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ALDEHYDES AND KETONES

Ordinary Thinking Objective Questions Introduction

1. A strong base can abstract an -hydrogen from

A. Ketone

B. Alkane

C. Alkene

D. Amine

Answer: A

α

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XuBCxCCxDkF4


Watch Video Solution

2. Which of the following compounds does not contain an -OH group

A. Phenol

B. Carboxylic acid

C. Aldehydes

D. Alcohols

Answer: C

Watch Video Solution

3. Chloral is :

A. 

B. 

C. 

CCI3CHO

CCI3COCH3

CCI3COCCI3

https://dl.doubtnut.com/l/_XuBCxCCxDkF4
https://dl.doubtnut.com/l/_M2Q0LPwyWkoK
https://dl.doubtnut.com/l/_kmW2iqWK9VV4


D. 

Answer: A

Watch Video Solution

CCI3CH2OH

4. What is the compound called if remaining two valencies of a carbonyl

group are satisfied by two alkyl groups ?

A. Aldehyde

B. Ketone

C. Acid

D. Acid chloride

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kmW2iqWK9VV4
https://dl.doubtnut.com/l/_NtiwfMFvPZrd


5. Which of the following is mixed ketone?

A. Pentanone

B. Acetophenone

C. Benzophenone

D. Butanone

Answer: B

Watch Video Solution

6. IUPAC name of  is

A. Chloral

B. Trichloro acetaldehyde

C. 1,1,1-trichloroethanal

D. 2,2,2-trichloroethanal

(C)Cl3CHO

https://dl.doubtnut.com/l/_g5gjSl5xieva
https://dl.doubtnut.com/l/_r3znbkVxOgfT


Answer: D

Watch Video Solution

7. Which of the following types of isomerism is shown by pentanone

A. Chain isomerism

B. Position isomerism

C. Functional isomerism

D. All of these

Answer: D

Watch Video Solution

8. In aldehydes and ketones, carbon of carbonyl group is

A.  hybridisedsp3

https://dl.doubtnut.com/l/_r3znbkVxOgfT
https://dl.doubtnut.com/l/_ej4J3nFp4piv
https://dl.doubtnut.com/l/_asvqkOvkQ3Gs


B.  hybridised

C. sp hybridised

D. Unhybridised

Answer: B

Watch Video Solution

sp2

9. The IUPAC name of following structure is 

A. 1-hydroxy 4-methyl 3-pentanone

B. 2-methyl -hydroxy 3-pentanone

C. 4-methyl 3-oxo 1-pentanol

D. Hexanol-1, one-3

Answer: A

h id l i

CH3 −

CH3

∣

CH − C
∣ ∣

O

− CH2 − CH2OH

https://dl.doubtnut.com/l/_asvqkOvkQ3Gs
https://dl.doubtnut.com/l/_N9z0Fb3jPgXp


Watch Video Solution

10. Reaction of acetaldehyde with HCN followed by hydrolysis gives a

compound which shows

A. Optical isomerism

B. Geometrical isomerism

C. Metamerism

D. Tautomerism

Answer: A

Watch Video Solution

11. Which of the aldehyde is most reactive ?

A. 

B. 

C6H5 − CHO

CH3CHO

https://dl.doubtnut.com/l/_N9z0Fb3jPgXp
https://dl.doubtnut.com/l/_qJVDYp37T14D
https://dl.doubtnut.com/l/_yyDARZWzLqoX


C. 

D. All the equally reactive

Answer: C

Watch Video Solution

HCHO

12. Which factor/s will increase the reactivity of

 group? 

(i)Presence of group with positive inductive effect 

(ii) Presenceof group with negative inductive effect 

(iii) Presence of large alkyl group

https://dl.doubtnut.com/l/_yyDARZWzLqoX
https://dl.doubtnut.com/l/_Xwo4XH7mGA1I


A. Only (i)

B. Only (ii)

C. (i) and (iii)

D. (ii) and (iii)

Answer: B

Watch Video Solution

13. Acetone and acetaldehyde are

A. Position isomers

B. Functional isomers

C. Not isomers

D. Chain isomers

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Xwo4XH7mGA1I
https://dl.doubtnut.com/l/_liEHj29GDGsF


14. The compound obtained when acetaldehyde reacts with dilute

aqueous sodium hydroxide exhibits

A. Geometrical isomerism

B. Optical isomerism

C. Neither optical nor geomtrical isomerism

D. Both optical and geometrical isomerism

Answer: B

Watch Video Solution

15. Glyoxal is

A. 

B. 

CH2O − CH2O

CH2OH

∣

CH2OH

https://dl.doubtnut.com/l/_liEHj29GDGsF
https://dl.doubtnut.com/l/_o6SD4W9vdl9c
https://dl.doubtnut.com/l/_HJ6l5wqH9a6G


C. 

D. 

Answer: C

Watch Video Solution

CHO

∣

CHO

CH2OH

∣

CHO

16. The general formula of both aldehyde & ketone is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CnH2n+ 2O

CnH2nO2

CnH2nO

CnH2n+ 1O

https://dl.doubtnut.com/l/_HJ6l5wqH9a6G
https://dl.doubtnut.com/l/_wNSFBDSzdcQV
https://dl.doubtnut.com/l/_6VxJEMSFFwry


17. Aldehydes are isomeric with

A. Ketones

B. Ethers

C. Alcohols

D. Fatty acids

Answer: A

Watch Video Solution

18.  is

A. Acetaldehyde cyanohydrin

B. Acetone cyanohydrin

C. Cyanoethanol

D. Ethanol nitrile

CH3 −

OH

∣

C
∣

H

− CN

https://dl.doubtnut.com/l/_6VxJEMSFFwry
https://dl.doubtnut.com/l/_7uFjxdoKz6n7


Ordinary Thinking Objective Questions Preparation

Answer: A

Watch Video Solution

19. In the group  the carbonyl carbon is joined to other atoms by

A. Two sigma and one pi bonds

B. Three sigma and one pi bonds

C. One sigma and two pi bonds

D. Two sigma and two pi bonds

Answer: B

View Text Solution

1.  can be obtained byCH3COCH3

https://dl.doubtnut.com/l/_7uFjxdoKz6n7
https://dl.doubtnut.com/l/_X1ZSWU2aoFNf
https://dl.doubtnut.com/l/_u7Fkwz2uAEBX


A. Heating acetaldehyde with methanol

B. Oxidation of propyl alcohol

C. Oxidation of isopropyl alcohol

D. Reduction of propanonic acid

Answer: C

Watch Video Solution

2. The oxidation of toluene to benzaldehyde by chromyl chloride is called

A. Cannizzaro reaction

B. Wurtz reaction

C. Etard reaction

D. Reimer-Tiemann reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_u7Fkwz2uAEBX
https://dl.doubtnut.com/l/_uJK5uplNzeXJ


3. Ketones  can be obtained in one step by (where R and

R' are alkyl groups)

A. Hydrolysis of esters

B. Oxidation of primary alcohol

C. Oxidation of secondary alcohol

D. Reaction of acid halide with alcohols

Answer: C

Watch Video Solution

⎛
⎜⎜
⎝
R −

O

||

C − R'

⎞
⎟
⎟
⎠

4. Consider the following reaction 

 The product 'A' is

A. C6H5CHO

https://dl.doubtnut.com/l/_uJK5uplNzeXJ
https://dl.doubtnut.com/l/_6dPVCRYRMWyv
https://dl.doubtnut.com/l/_aReia6SFF1Hs


B. 

C. 

D. 

Answer: A

View Text Solution

C6H5OH

C6H5COCH3

C6H5CI

5. Reaction by which Benzaldehyde cannot be prepared

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_aReia6SFF1Hs
https://dl.doubtnut.com/l/_5HCH32W0KKb3
https://dl.doubtnut.com/l/_5MULZF5GtGhs


6. Dry heating of calcium acetate gives

A. Acetaldehyde

B. Ethane

C. Acetic acid

D. Acetone

Answer: D

Watch Video Solution

7. Acetophenone is prepared by the reaction of which of the following in

the presence of  catalyst

A. Phenol and acetic acid

B. Benzene and acetone

C. Benzene and acetyl chloride

D. Phenol and acetone

AlCl3

https://dl.doubtnut.com/l/_5MULZF5GtGhs
https://dl.doubtnut.com/l/_J9BaKry1hRdM


Answer: C

Watch Video Solution

8. The major product of the following reaction is 

A. 

B. Butan-2-one

C. 

D. Isobutyraldehyde

Answer: D

Watch Video Solution

CH3 −

CH3

∣

C
∣

OH

− CH2 − OH
H2SO4

−−−→

(CH3)2C = CH2

(CH3)2 −

OH

∣

C − CHO

9. Catalyst  is used inSnCI2 /HCI

https://dl.doubtnut.com/l/_J9BaKry1hRdM
https://dl.doubtnut.com/l/_qOniT8NFsbRy
https://dl.doubtnut.com/l/_kufyNYfgqIt0


A. Stephen's reduction

B. Cannizzaro's reaction

C. Clemmensen's reduction

D. Rosenmund's reduction

Answer: A

Watch Video Solution

10.  Butanone, R is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ch3 − CH2 − C ≡ CH
R

−−−→
H3O⊕

Hg+ +

KMnO4

KCIO3

K2Cr2O7

https://dl.doubtnut.com/l/_kufyNYfgqIt0
https://dl.doubtnut.com/l/_Ne2vydhKuf97


11. On heating calcium acetate and calcium formate, the product formed

is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COCH3

CH3CHO

HCHO + CaCO3

CH3CHO + CaCO3

12. Which of the following compound gives a ketone with Grignard

reagent?

A. Formaldehyde

B. Ethyl alcohol

https://dl.doubtnut.com/l/_Ne2vydhKuf97
https://dl.doubtnut.com/l/_uGwXRoAkyM97
https://dl.doubtnut.com/l/_e6xZ2KALN4Rf


C. Methyl cyanide

D. Methyl iodide

Answer: C

Watch Video Solution

13. Acetophenone is prepared from 

A. Rosenmund reaction

B. Sandmayer reaction

C. Wurtz reaction

D. Friedel craft reaction

Answer: D

Watch Video Solution

:

https://dl.doubtnut.com/l/_e6xZ2KALN4Rf
https://dl.doubtnut.com/l/_1YpHmkzNn9AN


14. The reagent used in Gattermann -Koch aldehyde synthesis is

A. 

B. Alkaline 

C. Acidic 

D. 

Answer: D

Watch Video Solution

Pb/BaSO4

KMnO4

KMnO4

CO + HCI

15. When a mixture of calcium benzoate and calcium acetate is dry

distilled, the resulting compound is

A. Acetophenone

B. Benzaldehyde

C. Benzophenone

D. Acetaldehyde

https://dl.doubtnut.com/l/_HdvISD5mOyF6
https://dl.doubtnut.com/l/_bsGU76EXovbB


Answer: A

Watch Video Solution

16. Glycerol reacts with potassium bisulphate to produce

A. Allyl iodide

B. Allyl sulphate

C. Acryl aldehyde

D. Glycerol trisulphate

Answer: C

Watch Video Solution

17. Hydrolysis of ozonide of but- -ene gives

A. Ethylene only

1

https://dl.doubtnut.com/l/_bsGU76EXovbB
https://dl.doubtnut.com/l/_IT3RBrrV4LUZ
https://dl.doubtnut.com/l/_hggkzIbsMQiJ


B. Acetaldehyde and Formaldehyde

C. Propionaldehyde and Formaldehyde

D. Acetaldehyde only

Answer: C

Watch Video Solution

18. An alkene of molecular formula  on ozonolysis gives 

dimethyl propanal and - butanone, then the alkene is

A. 2,2,4-trimethyl -3-hexene

B. 2,2,6-trimethyl-3-hexene

C. 2,3,4-trimethyl-2-hexene

D. 2,2,4-trimethyl-2-hexene

Answer: A

Watch Video Solution

C9H18 2.2

2

https://dl.doubtnut.com/l/_hggkzIbsMQiJ
https://dl.doubtnut.com/l/_EUIN687C7WGQ


19. Which of the following pathways produces 2-hexanone? 

(i)1-Hexyne is treated with  and water 

(ii) 3-Methyl-2-heptene is treated with  followed by hydrolysis 

n-Butyl magnesium bromide reacts with aetaldehyde followed by

hydrolysis and then chromic acid oxidation 

(iv) Hydroboration oxidation of 1-hexyne

A. (i),(ii) and (iii)

B. (i) and (ii) only

C. (i),(ii) and (iv)

D. (i) and (iii) only

Answer: A

Watch Video Solution

H2SO4, HgSO4

O3

20.  compound X isC6H6 + CO + HCl
Anhy. AlCl3
−−−−−−→ X + HCl

https://dl.doubtnut.com/l/_EUIN687C7WGQ
https://dl.doubtnut.com/l/_wvAwMkbQ4HQP
https://dl.doubtnut.com/l/_idXe9Qr9RkRj


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5CH3

C6H5CH2CI

C6H5CHO

C6H5COOH

21. .

A. Mendius reaction

B. Oxo process

C. Sandorn's reaction

D. Stephen's reaction

Answer: B

Watch Video Solution

R − CH = CH2 + CO + H2

HighTemp

−−−−−−−−→
HighPressure

RCH2CH2CHO

https://dl.doubtnut.com/l/_idXe9Qr9RkRj
https://dl.doubtnut.com/l/_UQrnCny9DMKI


22. Which one of the following compounds is prepared in the laboratory

from benzene by a substitution reaction ?

A. Glyoxal

B. Cyclohexane

C. Acetophenone

D. Hexabromo cyclohexane

Answer: C

Watch Video Solution

23. Which of the following is the industrial method of preparation of

acetaldehyde

A. 

B. 

CH3CN
SnCI2

−−−→
HCI

CH3CH = NH
H3O

+

−−−→ CH3CHO

CH3COCI + H2
Pd

−−−→
BaSO4

CH3CHO + HCI

https://dl.doubtnut.com/l/_UQrnCny9DMKI
https://dl.doubtnut.com/l/_9jvuQJp9on2y
https://dl.doubtnut.com/l/_qXOiniA1xb0b


C. 

D. None of these

Answer: C

Watch Video Solution

CH2 = CH2 + H2O
Pd+ +

−−−→ CH3CHO

24. Compound which gives acetone on ozonolysis

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH = CH − CH3

(CH3)2C = C(CH3)2

C6H5CH = CH2

CH3CH = CH2

https://dl.doubtnut.com/l/_qXOiniA1xb0b
https://dl.doubtnut.com/l/_u4qoxppIKfZU


25.  


The above reaction is called :

A. Reimer-Tiemann reaction

B. Cannizzaro reaction

C. Rosenmund reaction

D. Eformatsky reaction

Answer: C

Watch Video Solution

CH3COCl
2H

−−−−−−→
Pd/BaSO4

CH3CHO + HCl

26. Which of the following on reaction with  gives urinary antiseptic

compound

A. 

B. 

C. 

NH3

HCHO

CH3CHO

C6H5CHO

https://dl.doubtnut.com/l/_vdDnWC8joLwj
https://dl.doubtnut.com/l/_E9psxviF4JFU


D. 

Answer: A

Watch Video Solution

C6H5CH2CHO

27. The oxidation of benzyl chloride with lead nitrate gives

A. Benzyl alcohol

B. Benzoic acid

C. Benzaldehyde

D. p-chlorobenzaldehyde

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_E9psxviF4JFU
https://dl.doubtnut.com/l/_xcw9x1AwXRqi


28. Consider the following reaction sequence, 

 

The products  and  are, respectively,

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

CH3C ≡ CH
aq .H2SO4

−−−−−→
H2SO4

A
PCI5

−−→
Heat

B

(A) (B)

CH3CHO CH3CH2OH

HCHO CH3CH2OH

CH3CH2OH CH3CH2CHO

HCHO CH3CHO

29. Acetone will be obtained by the ozonolysis of

A. 1-butene

B. 2-butene

C. Isobutene

https://dl.doubtnut.com/l/_cRjckkLxZB0X
https://dl.doubtnut.com/l/_aL1Msek78ghk


D. 2-butyne

Answer: C

Watch Video Solution

30.  reacts with  to form ozonide. On hydrolysis it forms

__________.

A. Ethylene oxide

B. 

C. Ethylene glycol

D. Ethyl alcohol

Answer: B

Watch Video Solution

O3 CH2 = CH2

HCHO

https://dl.doubtnut.com/l/_aL1Msek78ghk
https://dl.doubtnut.com/l/_1iionJSv60lq


31. Identify the product C in the series 

C

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CN
Na/C2H5OH

−−−−−−−→ A
HNO2

−−−→ B
HolCu/573K

−−−−−−−→

CH3COOH

CH3CH2NHOH

CH3CONH2

CH3CHO

32. The end product in the following sequence of reaction is 

A. Acetic acid

B. Isopropyl alcohol

C. Acetone

HC ≡ CH
1 %HgSO4

−−−−−−→
20 %H2SO4

A
CH3MgX
−−−−−→ B

| 0 |
−−→

https://dl.doubtnut.com/l/_5stFWKW24TLv
https://dl.doubtnut.com/l/_rV2UIf3W5ilO


D. Ethanol

Answer: C

Watch Video Solution

33.  


The product (A) in above reaction is :

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 − COOC2H5

NaOH
−−−→
(H2O )

(A)

CH3COOH

C2H5OH

CH3COCH3

C2H5CHO

https://dl.doubtnut.com/l/_rV2UIf3W5ilO
https://dl.doubtnut.com/l/_iJT0coxqKH1K


34. which of the following on heating with aqueous KOH produces

acetaldehyde?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3COCI

CH3CH2CI

CH2CICH2CI

CH3CHCI2

35. Ozonolysis of an organic compound gives formaldehyde as one of the

products. This confirms the presence of

A. Two ethylenic double bonds

B. A vinyl group

C. An isopropyl group

https://dl.doubtnut.com/l/_dOncMGlYNhgl
https://dl.doubtnut.com/l/_1oJCwTbaytPR


D. An acetylenic triple bond

Answer: B

Watch Video Solution

36. Calcium Acetate on heating under distillation gives

A. Acetaldehyde and Calcium oxide

B. Calcium carbonate and Acetic acid

C. Acetone and Calcium carbonate

D. Calcium oxide and 

Answer: C

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_1oJCwTbaytPR
https://dl.doubtnut.com/l/_XwQ9XWPWjIES


37. Secondary nitroalkanes can be converted into ketones by using Y.

identify Y from the following 

A. Aqueous HCI

B. Aqueous 

C. 

D. 

Answer: A

View Text Solution

NaOH

KMnO4

CO

38. When a mixture of methane and oxygen is passed through heated

molybdenum oxide, the main product formed is

A. Methanoic acid

B. Ethanal

https://dl.doubtnut.com/l/_zdwelT967onK
https://dl.doubtnut.com/l/_TEqo8HWaqYUt


C. Methanol

D. Methanal

Answer: D

Watch Video Solution

39. Benzoin is

A. Compound containing an aldehyde and a ketonic group

B.  unsaturated acid

C. -hydroxy aldehyde

D. -hydroxy ketone

Answer: D

Watch Video Solution

α, β

α

α

https://dl.doubtnut.com/l/_TEqo8HWaqYUt
https://dl.doubtnut.com/l/_yLZMaXMKyQ4b


40.  On reductive ozonolysis yields

A. 6-oxoheptanal

B. 6-oxoheptanoic acid

C. 6-hydroxyheptanal

D. 3-hydroxypentanal

Answer: A

View Text Solution

41. The oxidation product of 2-propanol with hot conc.  is :

A. Ethanoic acid

B. Propanone

C. Propanal

D. None of these

HNO3

https://dl.doubtnut.com/l/_hXgPxuj2FHXP
https://dl.doubtnut.com/l/_DX9UNjKPZOrr


Answer: B

Watch Video Solution

42. Assertion: Acetylene on treatment with alkaline  produce

acetaldehyde. 

Reason: Alkaline  is a reducing agent.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

Watch Video Solution

KMnO4

KMnO4

https://dl.doubtnut.com/l/_DX9UNjKPZOrr
https://dl.doubtnut.com/l/_Y4r0PCQC2oVu


Ordinary Thinking Objective Questions Properties

43. Assertion: Formaldehyde cannot be prepared by Rosenmund's

reduction. 

Reason: Acid chlorides can be reduced into aldehydes with hydrogen in

boiling xylene using palladium or platinum as a catalyst supported on

barium sulphate. This is known as Rosenmund's reduction.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hW6hWMQp6dIw


1. Paraldehyde is used as a

A. Medicine

B. Poison

C. Polymer

D. Dye

Answer: A

View Text Solution

2. Which of the following fails to answer the iodoform test

A. Pentanone-1

B. Pentanone-2

C. Propanone-2

D. Ethanol

https://dl.doubtnut.com/l/_vTHa6Xl96joO
https://dl.doubtnut.com/l/_zWoNM2thi5GZ


Answer: A

Watch Video Solution

3. Which one of the following reactions is a method for the conversion of

ketone into a hydrocarbon

A. Aldol condensation

B. Reimer-Tiemann reaction

C. Cannizzaro reaction

D. Wolf-Kishner reduction

Answer: D

Watch Video Solution

4.  


 

3CH3COCH3

HCI
−−→ (CH3)2C = CH − CO − CH = C(CH3)2

(B)

https://dl.doubtnut.com/l/_zWoNM2thi5GZ
https://dl.doubtnut.com/l/_yatBpYNukhLT
https://dl.doubtnut.com/l/_oQmhWEAaKhD1


This polymer (B) is obtained when acetone is saturated with hydrogen

chloride gas. B can be

A. Phorone

B. Formose

C. Diacetone alcohol

D. Mesityl oxide

Answer: A

Watch Video Solution

5. The reagent which can be used to distinguish acetopheone from

benzophenone is :

A. 2,4-dinitrophenyl hydrazine

B. Aqueous solution of 

C. Benedict reagent

NaHSO3

https://dl.doubtnut.com/l/_oQmhWEAaKhD1
https://dl.doubtnut.com/l/_mRU0NEE2Hc4b


D.  and 

Answer: D

Watch Video Solution

I2 Na2CO3

6. Acetaldehyde reacts with

A. Electrophiles only

B. Nucleophiles only

C. Free radicals only

D. Both electrophiles and nucleophiles

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_mRU0NEE2Hc4b
https://dl.doubtnut.com/l/_Qs5CC9l6X4NI


7. Which one of the following on oxidation will not give a carboxylic acid

with the same number of carbon atoms ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3COCH3

CCI3CH2CHO

CH3CH2CH2OH

CH3CH2CHO

8. Which of the following compound will undergo self - aldol

condensation in the presence of cold dilute alkali?

A. 

B. 

C. 

C6H5CHO

CH3CH2CHO

CH ≡ C − CHO

https://dl.doubtnut.com/l/_mgignF5GTQDt
https://dl.doubtnut.com/l/_jlseaJjBHpJ7


D. 

Answer: B

Watch Video Solution

CH2 = CH − CHO

9. Which of the following compounds will give positive test with Tollen's

reagent?

A. Acetamide

B. Acetaldehyde

C. Acetic acid

D. Acetone

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jlseaJjBHpJ7
https://dl.doubtnut.com/l/_wnEJZLidsEzL


10. The general order of reactivity of carbonyl compounds for nucleophilic

addition reactions is -

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2C = O > RCHO > ArCHO > R2C = O > Ar2C = O

ArCHO > Ar2C = O > RCHO > R2C = O > H2C = O

Ar2C = O > R2C = O > ArCHO > RCHO > H2C = O

H2C = O > R2C = O > Ar2C = O > RCHO > ArCHO

11. Aldol condensation will not take place in

A. 

B. 

C. 

D. 

HCHO

CH3CH2CHO

CH3CHO

CH3COCH3

https://dl.doubtnut.com/l/_rDmtY43VK3Yy
https://dl.doubtnut.com/l/_NWkNulJ27q4n


Answer: A

Watch Video Solution

12. Phenylmethanol can be prepared by reducing the benzaldehyde with 

A. 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

:

CH3Br

Zn HCI

CH3Br Na

CH3I Mg

13. Which of the following compound is resistant to nucleophilic attack by

hydroxyl ions?

https://dl.doubtnut.com/l/_NWkNulJ27q4n
https://dl.doubtnut.com/l/_7OAPZbSZVbcO
https://dl.doubtnut.com/l/_2KYU2pqTCoLo


A. Methyl acetate

B. Acetonitrile

C. Dimethyl ether

D. Acetamide

Answer: C

Watch Video Solution

14. Glucose molecule reacts with X number of molecules of

phenylhydrazine to yield osazone. The value of X is

A. One

B. Two

C. Three

D. Four

Answer: B

https://dl.doubtnut.com/l/_2KYU2pqTCoLo
https://dl.doubtnut.com/l/_JoEuBDZYQIMI


View Text Solution

15. Which of the following does not given iodoform test :

A. Ethanal

B. Ethanol

C. 2-propanone

D. 3-pentanone

Answer: D

Watch Video Solution

16. Benzaldehyde 

A. Benzyl alcohol

B. Benzoic alcohol

C. Hydrobenzamide

+NaOH →

https://dl.doubtnut.com/l/_JoEuBDZYQIMI
https://dl.doubtnut.com/l/_EtS8Meki9Mrt
https://dl.doubtnut.com/l/_Y0IfYvyvgrSs


D. Cinnamic acid

Answer: A

Watch Video Solution

17. Which of the following is incorrect

A.  is used in the detection of phenols

B. Fehling's solution is used in the detection of glucose

C. Tollen's reagent is used in detection of unsaturation

D.  is used in the detection of carbonyl compounds

Answer: C

Watch Video Solution

FeCI3

NaHSO3

https://dl.doubtnut.com/l/_Y0IfYvyvgrSs
https://dl.doubtnut.com/l/_hR91DSHwM7Yf


18. When m-chlorobenzaldehyde is treated with  solution, the

product (s) obtained is (are)

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

50 % KOH

19. A and B in the following reactions are 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_XEosCrVedBP0
https://dl.doubtnut.com/l/_G7jlPLQ8HTWb


D. 

Answer: A

View Text Solution

A = RR'CH2CN, B = NaOH

20. Clemmensen reduction of a ketone is carried out in the presence of

which of the following ?

A.  and  as catalyst

B. Glycol with 

C.  with 

D. 

Answer: C

Watch Video Solution

H2 Pt

KOH

Zn − Hg HCI

LiAIH2

https://dl.doubtnut.com/l/_G7jlPLQ8HTWb
https://dl.doubtnut.com/l/_TCsVmbKusVv8


21. In the reaction 

 

an asymmertic cabron is generated. The acid obtained would be

A. isomer

B. D-isomer

C. L-isomer

D. isomer

Answer: D

Watch Video Solution

CH3CHO + HCN → CH3CH(OH)CN
H2O
−−→ CH3CH(OH)COOH

20 % D + 80 % L −

50 % D + 50 % L −

22. A carbonyl compound reacts with hydrogen cyanide to form

cyanohydrin which on hydrolysis forms a recemic mixrture of -hydroxy

acid. The carbonyl compound .

A. Diethyl ketone

α

D

https://dl.doubtnut.com/l/_vLyObd0p1q1O
https://dl.doubtnut.com/l/_ay26d2jAMwe2


B. Formaldehyde

C. Acetaldehyde

D. Acetone

Answer: C

Watch Video Solution

23.  and  can be separated from  using

A. Tollen's reagent

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H5OH CH3COOR CH3CHO

I2 /NaOH

NH2NH2

NaHSO3

https://dl.doubtnut.com/l/_ay26d2jAMwe2
https://dl.doubtnut.com/l/_KzWONjXUxBTR
https://dl.doubtnut.com/l/_ndHuir6gyqoS


24. The product formed in aldol condensation is

A. A beta-hydroxy acid

B. A beta-hydroxy aldehyde or a beta-hydroxy ketone

C. An alpha-hydroxy aldehyde or ketone

D. An alpha, beta unsaturated ester

Answer: B

Watch Video Solution

25. Reduction of aldehydes and ketones into hydrocarbons using

called.

A. Clemmensen reduction

B. Cope reduction

C. Dow reduction

D. Wolf-Kishner reduction

Zn − Hg + HCl

https://dl.doubtnut.com/l/_ndHuir6gyqoS
https://dl.doubtnut.com/l/_6QzRnc5fgwO6


Answer: A

Watch Video Solution

26. Which one of the following undergoes reaction with  sodium

hydroxide solution to give the corresponding alcohol and acid?

A. Butanal

B. Benzaldehyde

C. Phenol

D. Benzoic acid

Answer: B

Watch Video Solution

50 %

27. Acetophenone when reacted with a base, , yields a stable

compound which has the structure

C2H5ONa

https://dl.doubtnut.com/l/_6QzRnc5fgwO6
https://dl.doubtnut.com/l/_d7U4MBAiMVRs
https://dl.doubtnut.com/l/_b0PvevFphaAs


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

28. Trichloroacetaldehyde,  reacts with chlorobenzene in

presence of sulphuric acid and produces

A. 

B. 

C. 

D. 

Answer: D

CCI3CHO

https://dl.doubtnut.com/l/_b0PvevFphaAs
https://dl.doubtnut.com/l/_gsf5hq1Wgi2o


View Text Solution

29. In which of the following reactions new carbon-carbon bond is not

formed

A. Cannizzaro reaction

B. Wurtz reaction

C. Aldol condensation

D. Friedel-Crafts reaction

Answer: A

Watch Video Solution

30. Consider the reaction 

 


What sort of reaction is it?

RCHO + NH2NH2 → R − CH = NNH2

https://dl.doubtnut.com/l/_gsf5hq1Wgi2o
https://dl.doubtnut.com/l/_rOroivjMThwB
https://dl.doubtnut.com/l/_mtWZC6zcojOU


A. Electrophilic addition-elimination reaction

B. Free radical addition-elimination reaction

C. Electrophilic substitution-elimination reaction

D. Nucleophilic addition-elimination reaction

Answer: D

Watch Video Solution

31. Acetone is treated with excess of ethanol in the presence of

hydrochloric acid. The product obtained is

A. 

B. 

C. 

D. 

CH3CH2CH2 −

O

∣ ∣

C − CH3

CH3CH2CH2 −

O

∣ ∣

C − CH2CH2CH3

https://dl.doubtnut.com/l/_mtWZC6zcojOU
https://dl.doubtnut.com/l/_4gT8u0j72EGN


Answer: D

View Text Solution

32.  and  can be distinguished chemically by

A. Benedict test

B. Iodoform test

C. Tollen reagent test

D. Fehling solution test

Answer: B

View Text Solution

CH3CHO C6H5CH2CHO

33. On hydrolysis of a "compound", two compounds, are obtained. One of

which on treatment with sodium nitrite and hydrochloric acid gives a

https://dl.doubtnut.com/l/_4gT8u0j72EGN
https://dl.doubtnut.com/l/_toEl9MPOJ1CP
https://dl.doubtnut.com/l/_xRqrluhfobSq


product which does not respond to iodoform test. The second one

reduces Tollen's reagent and Fehling's solution The "Compound: is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2CH2NC

CH3CH2CH2CN

CH3CH2CH2ON = O

CH3CH2CH2CON(CH3)2

34. Which one is most reactive towards Nucleophilic addition reaction

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_xRqrluhfobSq
https://dl.doubtnut.com/l/_efTiZaTE9DHw


Answer: B

View Text Solution

35. Formaldehyde reacts with ammonia to give urotropine. The formula of

urotropine is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(CH2)6N4

(CH2)4N3

(CH2)6N6

(CH2)3N3

36. The reagent that gives an orange coloured precipitate with

acetaldehyde is

https://dl.doubtnut.com/l/_efTiZaTE9DHw
https://dl.doubtnut.com/l/_Q9LY1wWYpZLK
https://dl.doubtnut.com/l/_O4iHlPnXs8Ku


A. 

B. 

C. Iodine

D. 2,4-DNP

Answer: D

Watch Video Solution

NH2OH

NaHSO3

37. Which of the following does not give iodoform test

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CH2OH

CH3OH

CH3CHO

PhCOCH3

https://dl.doubtnut.com/l/_O4iHlPnXs8Ku
https://dl.doubtnut.com/l/_lg3GBCNb146v


38. Reaction of 2- butene with acidic  gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

CH3COOH

CH3CH2OH

HCHO

CH3OH

39. Which of the following does not give brick red ppt. with Fehling

solution ?

A. Acetone

B. Acetaldehyde

C. Formalin

https://dl.doubtnut.com/l/_lg3GBCNb146v
https://dl.doubtnut.com/l/_8bgskn5Pt64l
https://dl.doubtnut.com/l/_2BM1sYTJzPs1


D. D-glucose

Answer: A

Watch Video Solution

40. Acetaldehyde and acetone can be distinguished by

A. Molisch test

B. Bromoform test

C. Solubility in water

D. Tollen's test

Answer: D

Watch Video Solution

41. Acetaldehyde cannot show

https://dl.doubtnut.com/l/_2BM1sYTJzPs1
https://dl.doubtnut.com/l/_LKKYm4oNpMTy
https://dl.doubtnut.com/l/_JsI1zHItq8XP


A. Iodoform test

B. Lucas test

C. Benedict's test

D. Tollen's test

Answer: B

View Text Solution

42. The reagent used for the separation of Acetadehyde from

acetophenone is

A. 

B. 

C. 

D. 

Answer: A

NaHSO3

C6H5NHNH2

NH2OH

NaOH − I2

https://dl.doubtnut.com/l/_JsI1zHItq8XP
https://dl.doubtnut.com/l/_IKSfiFOT2Z5h


Watch Video Solution

43.  reacts with aqueous NaOH solution to form

A. 3-hydroxy butanal

B. 2-hydroxy butanal

C. 4-hydroxy butanal

D. 3-hydroxy butanol

Answer: A

Watch Video Solution

CH3CHO

44. Which of the following would undergo aldol condensation ?

A. 

B. 

CCI3. CHO

CH3 −

CH3

∣

C
∣

CH3

− CHO

https://dl.doubtnut.com/l/_IKSfiFOT2Z5h
https://dl.doubtnut.com/l/_cu9HIn6do6kd
https://dl.doubtnut.com/l/_OrhgC1D8bUPc


C. 

D. 

Answer: C

Watch Video Solution

CH3. CH2. CHO

HCHO

45. The reaction 

 is known as

A. Perkin's reaction

B. Claisen condensation

C. Benzoin condensation

D. Cannizzaro's reaction

Answer: B

Watch Video Solution

C6H5CHO + CH3CHO → C6H5CH = CH − CHO

https://dl.doubtnut.com/l/_OrhgC1D8bUPc
https://dl.doubtnut.com/l/_CLwy8ZcYBXnp
https://dl.doubtnut.com/l/_CXGxyt1od9f7


46. In which of the following reaction aromatic aldehyde is treated with

acid anhydride in presence of corresponding salt of the acid to give

unsaturated aromatic acid

A. Friedel-Craft's reaction

B. Perkin reaction

C. Wurtz reaction

D. None of these

Answer: B

Watch Video Solution

47.  reacts with

A. 

B. 

C. 

NaOH /H +

C6H5OCH3

CH3OH

CH3 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_CXGxyt1od9f7
https://dl.doubtnut.com/l/_MPgfBRi5oGet


D. 

Answer: C

Watch Video Solution

C2H5OH

48. Acetone reacts with iodine to form iodoform in the presence of

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CaCO3

NaOH

KOH

MgCO3

https://dl.doubtnut.com/l/_MPgfBRi5oGet
https://dl.doubtnut.com/l/_hkLCSiAZOsCP


49.  shows Cannizzaro's reaction due to

A. Carbon is bounded by 3 methyl groups

B. Absence of -hydrogen atom

C. Due to steric effect

D. None of these

Answer: B

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CHO

α

50. Aectaldehyde reacts with chlorine to give

A. 

B. 

C. 

D. 

CCI4

CHCI3

CCI3. COCH3

CCI3. CHO

https://dl.doubtnut.com/l/_sSGt3TsOePoZ
https://dl.doubtnut.com/l/_vGxuSm4XvXIF


Answer: D

Watch Video Solution

51. With which of the following reagents, carbonyl compound shows

addition cum elimination reaction

A. 

B. Brady's reagent

C. 

D. All of these

Answer: B

Watch Video Solution

PCI5

HCN

52. Which one of the following gives iodoform test?

https://dl.doubtnut.com/l/_vGxuSm4XvXIF
https://dl.doubtnut.com/l/_Z6vuqG2eWhNz
https://dl.doubtnut.com/l/_fQtHUCQ50NVr


A. Formaldehyde

B. Ethynol

C. Benzyl alcohol

D. Benzaldehyde

Answer: B

Watch Video Solution

53. Paraldehyde is :

A. A trimer of formaldehyde

B. A trimer of acetaldehyde

C. A hexamer of formaldehyde

D. A hexamer of acetaldehyde

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fQtHUCQ50NVr
https://dl.doubtnut.com/l/_mqz2xNaZitmQ


54. Which will not give acetamide on reaction with ammonia

A. Acetic acid

B. Acetyl chloride

C. Acetic anhydride

D. Methyl formate

Answer: D

Watch Video Solution

55. For CHO which of the following is incorrect

A. On oxidation it yields benzoic acid

B. It is used in perfumery

C. It is an aromatic aldehyde

C6H5

https://dl.doubtnut.com/l/_mqz2xNaZitmQ
https://dl.doubtnut.com/l/_kasINFdlR2DZ
https://dl.doubtnut.com/l/_w7uNL2e1z7mY


D. On reduction yields phenol

Answer: D

Watch Video Solution

56. When acetaldehyde is heated with Tollen's reagent which of the

following is obtained ?

A. Methyl alcohol

B. Silver acetate

C. Silver mirror

D. Formaldehyde

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_w7uNL2e1z7mY
https://dl.doubtnut.com/l/_7vfqxBDoMBes


57. If formaldehyde and  are heated, then we get

A. Acetylene

B. Methane

C. Methyl alcohol

D. Ethyl formate

Answer: C

Watch Video Solution

KOH

58. Which of the following products is obtained by the oxidation of

propionaldehyde

A. Acetic acid

B. Formic acid and acetic acid

C. Propanoic acid

D. n-propyl alcohol

https://dl.doubtnut.com/l/_Sftz22zN88hv
https://dl.doubtnut.com/l/_LXZICkKSjNOg


Answer: C

Watch Video Solution

59. Benzaldehyde reacts with ammonia to form

A. Benzaldehyde ammonia

B. Urotropine

C. Hydrobenzamide

D. Aniline

Answer: C

Watch Video Solution

60. The reagent with which both acetaldehyde and acetone react easily is

A. Fehling's reagent

https://dl.doubtnut.com/l/_LXZICkKSjNOg
https://dl.doubtnut.com/l/_wybFkJxi1PAn
https://dl.doubtnut.com/l/_V0lTIfdc787n


B. Grignard reagent

C. Schiff's reagent

D. Tollen's reagent

Answer: B

Watch Video Solution

61. Which compound undergoes iodoform reaction ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCHO

CH3CHO

CH3OH

CH3COOH

https://dl.doubtnut.com/l/_V0lTIfdc787n
https://dl.doubtnut.com/l/_wM1YCw4cVbO6
https://dl.doubtnut.com/l/_SeO73sEAjda3


62. Which of the following compounds would undergo Cannizzaro's

reaction

A. Propionaldehyde

B. Benzaldehyde

C. Bromobenzene

D. Acetaldehyde

Answer: B

Watch Video Solution

63. Which gives difference between aldehyde and ketone

A. Fehling's solution

B. Tollen's reagent

C. Schiff's reagent

D. All of these

https://dl.doubtnut.com/l/_SeO73sEAjda3
https://dl.doubtnut.com/l/_ubWo4T4gd5e4


Answer:

Watch Video Solution

64.  can be distingushed by testing with

A. Phenyl hydrazine

B. Hydroxylamine

C. Fehling solution

D. Sodium bisulphite

Answer: C

Watch Video Solution

C2H5CHO and (CH3)2CO

65. When  reacts with


 and , which of the following is formed

CH3COCH3

CI2 NaOH

https://dl.doubtnut.com/l/_ubWo4T4gd5e4
https://dl.doubtnut.com/l/_U1tsOvhTtjo6
https://dl.doubtnut.com/l/_GXSo3g335pMy


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CHCI3

CCI4

CCI2H2

CH3CI

66. Which of the following gives aldol condensation reaction?

A. 

B. 

C. 

D. 

Answer: C

C6H5OH

C6H5 −

O

∣ ∣

C − C6H5

CH3CH2 −

O

∣ ∣

C − CH3

(CH3)2C −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_GXSo3g335pMy
https://dl.doubtnut.com/l/_N4ex9yk4C4gg


Watch Video Solution

67. An aldehyde on oxidation gives

A. An alcohol

B. An acid

C. A ketone

D. An ether

Answer: B

Watch Video Solution

68. An important reaction of acetone is auto condensation in presence of

concentrated sulphuric acid to give the aromatic compound

A. Mesitylene

B. Mesityl oxide

https://dl.doubtnut.com/l/_N4ex9yk4C4gg
https://dl.doubtnut.com/l/_jYRul2CI0wxM
https://dl.doubtnut.com/l/_bFySLswuF34v


C. Trioxan

D. Phorone

Answer: A

Watch Video Solution

69. Aldehyde with  forms

A. Hydrazones

B. Aniline

C. Nitrobenzene

D. None of these

Answer: A

Watch Video Solution

NH2NH2

https://dl.doubtnut.com/l/_bFySLswuF34v
https://dl.doubtnut.com/l/_47WtWWVDA0af


70. Claisen condensation is not given by

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

71. Grignard's reagent reacts with ethanal 

(acetaldehyde) and propanone to give

A. Higher aldehydes with ethanal and higher ketones with propanone

B. Primary alcohols with ethanal and secondary alcohols with

propanone

C. Ethers with ethanal and alcohols with propanone

https://dl.doubtnut.com/l/_wLRiOyNEqI0T
https://dl.doubtnut.com/l/_F8C8pAz3X44v


D. Secondary alcohols with ethanal and tertiary alcohols with

propanone

Answer: D

Watch Video Solution

72. The reaction of an aldehyde with hydroxylamine gives a product which

is called

A. Aminohydroxide

B. Hydrazone

C. Semicarbazone

D. Oxime

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F8C8pAz3X44v
https://dl.doubtnut.com/l/_ziaMapO19kGq
https://dl.doubtnut.com/l/_h0UPYAJSTqHU


73. Ketones reacting with Mg-Hg over water give

A. Pinacolone

B. Pinacols

C. Alcohols

D. None of these

Answer: B

Watch Video Solution

74. When dihydroxy acetone reacts with , the product is /are

A. 

B. 

C.  and 

D.  and 

HIO4

HCHO

HCOOH

HCHO HCOOH

HCHO CO2

https://dl.doubtnut.com/l/_h0UPYAJSTqHU
https://dl.doubtnut.com/l/_06eRmGLCVuc4


Answer: D

Watch Video Solution

75. Which of the following does not reduce Fehling's solution

A. Benzaldehyde

B. Formic acid

C. Glucose

D. Fructose

Answer: D

Watch Video Solution

76. A compound (A)  on hydrolysis gives  which reacts

with , forms iodoform but does not give Fehling test (A) is :

C5H10Cl2 C5H10O

NH2OH

https://dl.doubtnut.com/l/_06eRmGLCVuc4
https://dl.doubtnut.com/l/_jdV089QIMLQz
https://dl.doubtnut.com/l/_phL2dLRFeO51


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 −

CI

∣

C
∣

CI

− CH2 − CH2 − CH3

CH3CH2 −

CI

∣

C
∣

CI

− CH2CH3

CH3CH2CH2CH2

CI

∣

CH
CI

CH3 −

CI

∣

CH −

CI

∣

CH − CH2 − CH5

77. Aldol condensation of acetaldehyde involves the Formation of which

of the following intermediate

A. Acetate ion

B. A carbanion

C. A carbonium ion

D. A free radical

https://dl.doubtnut.com/l/_phL2dLRFeO51
https://dl.doubtnut.com/l/_DyOJB2IFLSrH


Answer: B

Watch Video Solution

78. The typical reactions of aldehyde is

A. Electrophilic addition

B. Nucleophilic substitution

C. Nucleophilic addition

D. Nucleophilic elimination

Answer: C

Watch Video Solution

79. Which of the following react with 

A. 

NaHSO3

CH3COCH3

https://dl.doubtnut.com/l/_DyOJB2IFLSrH
https://dl.doubtnut.com/l/_6JsRZoI5x17i
https://dl.doubtnut.com/l/_K67aBwfMr2mg


B. 

C. 

D. All of these

Answer: D

Watch Video Solution

CH3CHO

HCHO

80. Which of the following compounds containing carbonyl group will

give coloured crystalline compound with 

A. 

B. 

C. 

D. 

Answer: B

CH3COCI

CH3COCH3

CH3CO(OC2H5)

CH3CONH2

https://dl.doubtnut.com/l/_K67aBwfMr2mg
https://dl.doubtnut.com/l/_9fZvsGXKHJ2x


View Text Solution

81. Aldehydes and ketones can be reduced to corresponding

hydrocarbons by __________.

A. Refuxing with water

B. Refluxing with strong acids

C. Refluxing with soda amalgam and water

D. Refluxing with zinc amalgam and concentrated HCI

Answer: D

Watch Video Solution

82. The diketone  on intramolecular

aldol condensation gives the final product

A. 

CH3 −

O

∣ ∣

C − (CH2)2 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_9fZvsGXKHJ2x
https://dl.doubtnut.com/l/_8HGGVw3Diq9v
https://dl.doubtnut.com/l/_s01X5sUAETwp


B. 

C. 

D. 

Answer: C

View Text Solution

83. Aldehydes that do not undergo aldol condensation are 

(1) propanal (2) trichloroethanal (3) 2- phenylethanal (4) ethanal (5)

benzaldehyde

A. 3 and 4 only

B. 3 and 5 only

C. 1,2 and 3 only

D. 2 and 5 only

Answer:

https://dl.doubtnut.com/l/_s01X5sUAETwp
https://dl.doubtnut.com/l/_GZFmm3FrDngS


Watch Video Solution

84. The compound that neither forms semicarbazone nor oxime is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HCHO

CH3COCH2CI

CH3CHO

CH3CONHCH3

85. Which one of the following reagents is used to reduce an aldehyde to

primary alcohols ?

A. 

B.  and conc. 

N2H4 /KOH

Zn/Hg HCI

https://dl.doubtnut.com/l/_GZFmm3FrDngS
https://dl.doubtnut.com/l/_EpGQvWB8iSdi
https://dl.doubtnut.com/l/_owRDgMAp5igT


C. 

D. Alkaline  containing Rochelle salt

Answer: C

Watch Video Solution

LiAIH4

CuSO4

86. Magenta is

A. Alkaline phenolphthalein

B. Methyl red

C. p-rosaniline hydrochloride

D. Red litmus

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_owRDgMAp5igT
https://dl.doubtnut.com/l/_V1HZZk05C34J


87. Formalin is an aqueous solution of

A. Formic acid

B. Formaldehyde

C. Fluorescein

D. Furfuraldehyde

Answer: B

Watch Video Solution

88. Aldol condensation involving  gives the

product

A. 

B. 

C. 

D. None of these

CH3CHO + CH3CHO

CH3CHOHCH2CHO

CH3COCH2CH3

CH3CH = CH2

https://dl.doubtnut.com/l/_HjWs6uzGcqNp
https://dl.doubtnut.com/l/_j8uAQGrjlffJ


Answer: A

Watch Video Solution

89. Cannizzaro reaction is given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HCHO

CH3COCH3

CH3CHO

CH3CH2OH

90. A compound has a vapour density of 29. on warming an aqueous

solution of alkali, it gives a yellow precipitate. The compound is

https://dl.doubtnut.com/l/_j8uAQGrjlffJ
https://dl.doubtnut.com/l/_7U9P4bAF58JJ
https://dl.doubtnut.com/l/_nyAOlYCI2TUW


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CH3CH2CHO

CH3CHOHCH3

CH3COCH3

CH3CH2COOH

91. Haloform test is given by the following substance

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCHO

(CH3)2CO

CH3OCH3

CH3CH2CI

https://dl.doubtnut.com/l/_nyAOlYCI2TUW
https://dl.doubtnut.com/l/_Kd2BFtxAk7x0


92. The synthesis of crotonaldehyde from acetaldehyde is an example of

..... reaction

A. Nucleophilic addition

B. Elimination

C. Electrophilic addition

D. Nucleophilic addition-elimination

Answer: D

Watch Video Solution

93. When  reacts with an usymmetrical ketone then numver of

products formed is

A. 1

B. 2

NH2OH

https://dl.doubtnut.com/l/_Kd2BFtxAk7x0
https://dl.doubtnut.com/l/_DgwPSNZhThf9
https://dl.doubtnut.com/l/_hJoWlTlmebfC


C. 3

D. 4

Answer: B

Watch Video Solution

94. The most suitable reagent A, for the reaction 

 is (are)

A. 

B. 

C. 

D. m-chloroperbenzoic acid

Answer: D

View Text Solution

O3

H2O2

NaOH − H2O2

https://dl.doubtnut.com/l/_hJoWlTlmebfC
https://dl.doubtnut.com/l/_jtUZrdMo7v3J
https://dl.doubtnut.com/l/_apxsH7DG4Tqw


95. Benzaldehyde on reaction with acetophenone

in the presence of sodium hydroxide solution gives

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

C6H5CH = CHCOC6H5

C6H5COCH2C6H5

C6H5CH = CHC6H5

C6H5CH(OH)COC6H5

96. Arrange the following compound in an increasing order of their

reactivity in nucleophilic addition reactions : ethanal propanal, butanone,

propanone.

A. 

B. 

III < II < I < IV

II < I < III < IV

https://dl.doubtnut.com/l/_apxsH7DG4Tqw
https://dl.doubtnut.com/l/_v1G9iyzFzAsJ


C. 

D. 

Answer: C

Watch Video Solution

IV < III < II < I

I < II < III < IV

97. The aldol condensation reaction is given by

A. Acetophenone

B. Benzaldehyde

C. Benzophenone

D. Trichloroacetaldehyde

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_v1G9iyzFzAsJ
https://dl.doubtnut.com/l/_xjj8lxShBUTS


98. Reduction of acetone in the presence of sodium borohydride gives

A. 1-propanol

B. 2-propanol

C. Propene

D. n-propane

Answer: B

View Text Solution

99. Hexamethylene tetramine is used as

A. Analgesic

B. Antipyretic

C. Urinary antiseptic

D. All of these

https://dl.doubtnut.com/l/_QnQcQBWSS3H4
https://dl.doubtnut.com/l/_yBDdLCz8HbEb


Answer: C

Watch Video Solution

100. Correct order of reactivity of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CHO, C2H5COCH3 and CH3COCH3

CH3CHO > CH3COCH3 > CH3COC2H5

C2H5COCH3 > CH3COCH3 > CH3CHO

CH3COCH3 > CH3CHO > C2H5COCH3

CH3COCH3 > C2H5COCH3 > CH3CHO

101. When acetaldehyde reacts with  the resulting compound isPCl5

https://dl.doubtnut.com/l/_yBDdLCz8HbEb
https://dl.doubtnut.com/l/_FxMNxtuCCV8E
https://dl.doubtnut.com/l/_kEK6xmbDo4f9


A. Ethyl chloride

B. Ethylene chloride

C. Ethylidene chloride

D. Trichloro acetaldehyde

Answer: C

Watch Video Solution

102. Reduction of an aldehyde produces

A. Primary alcohol

B. Monocarboxylic acid

C. Secondary alcohol

D. Tertiary alcohol

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kEK6xmbDo4f9
https://dl.doubtnut.com/l/_XKEaegDb0xrS


103. The alkaline  containing sodium potassium tartrate does not

react with

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CuSO4

CH3CHO

C2H5CHO

C6H5CH2CHO

C6H5CHO

104. The reaction. 

 
CH3 −

O

∣ ∣

C − OCH3 + C2H5

H + or OH −

−−−−−−−→

CH3 −

O

∣ ∣

C − OC2H5 + CH3OHis called

https://dl.doubtnut.com/l/_XKEaegDb0xrS
https://dl.doubtnut.com/l/_FRxwNSCJR5zq
https://dl.doubtnut.com/l/_uDzyoLyTN8On


A. Perkin's reaction

B. Claisen Schmidt reaction

C. Esterification

D. Trans-esterification

Answer: D

Watch Video Solution

105. Which gives lactic acid on hydrolysis after reacting with ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HCN

HCHO

CH3CHO

C6H5CHO

CH3COCH3

https://dl.doubtnut.com/l/_uDzyoLyTN8On
https://dl.doubtnut.com/l/_BgMxkkF3QNHh


106. Which of the following is a reducing agent ?

A. 

B.  conc. 

C. 

D. All of these

Answer: D

Watch Video Solution

LiAIH4

Zn + HCI

Sn + conc. HCI

107. Schiff bases or anils are formed, when aniline reacts with

A. Aliphatic aldehydes

B. Aromatic aldehydes

C. Aliphatics ketones

https://dl.doubtnut.com/l/_BgMxkkF3QNHh
https://dl.doubtnut.com/l/_9N8vt3fImrDF
https://dl.doubtnut.com/l/_unh6lddFBSmr


D. Aromatic ketones

Answer: B

View Text Solution

108.  


The similar reaction can take place with which of the following aldehyde?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2C6H5CHO
NaOH
−−−→ C6H5CH2OH + C6H5COONa

CH3CHO

CH3CH2CHO

(CH3)3CCHO

(CH3)2CHCHO

https://dl.doubtnut.com/l/_unh6lddFBSmr
https://dl.doubtnut.com/l/_tdBVmZyLbdVw


109. Which of the following will not give the iodoform test?

A. Acetophenone

B. Ethanal

C. Benzophenone

D. Ethanaol

Answer: C

Watch Video Solution

110. The reaction 

 is known as

A. Cannizzaro's reaction

B. Wurtz reaction

C. Aldol condensation

D. Clemmensen reduction

CH3CHO + CH3CHO
Dil. alkali
−−−−−→ CH3CH(OH)CH2CHO

https://dl.doubtnut.com/l/_GflpdX9JLxGx
https://dl.doubtnut.com/l/_2ywTfKpFmt8H


Answer: C

View Text Solution

111. Which one is used in the manufacture of mirror

A. Red lead (litharge)

B. Ammoniacal 

C. Ammoniacal  Red lead

D. Ammoniacal 

Answer: D

View Text Solution

AgNO3

AgNO3 +

AgNO3 + HCHO

112. Which of the following organic compound exhibits positive Fehling

test as well as iodoform test?

https://dl.doubtnut.com/l/_2ywTfKpFmt8H
https://dl.doubtnut.com/l/_NWPOh68mcrhy
https://dl.doubtnut.com/l/_5gniBNY8npbb


A. Methanal

B. Ethanaol

C. Propanone

D. Ethanal

Answer: D

Watch Video Solution

113. In the presence of a dilute base  and  react

together to give a product. The product is

A. 

B. 

C. 

D. 

Answer: D

C6H5CHO CH3CHO

C6H5CH3

C6H5CH2CH2OH

C6H5CH2OH

C6H5CH = CHCHO

https://dl.doubtnut.com/l/_5gniBNY8npbb
https://dl.doubtnut.com/l/_0awIAnuiVN0k


View Text Solution

114. Which of the following on reaction with conc. NaOH gives an alcohol

?

A. Methanal

B. Ethanal

C. Propanal

D. Butanal

Answer: A

Watch Video Solution

115. Acetal is produced by reacting alcohol in the presence of dry HCl with

A. Acetaldehyde

B. Ketone

https://dl.doubtnut.com/l/_0awIAnuiVN0k
https://dl.doubtnut.com/l/_mNpcIjuRsQdy
https://dl.doubtnut.com/l/_YPZzAeRfhRkD


C. Ether

D. Carboxylic acid

Answer: A

Watch Video Solution

116. Which of the following reagents react differently with HCHO,

 and  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CHO CH3COCH3

HCN

NH2NH2

NH2OH

NH3

https://dl.doubtnut.com/l/_YPZzAeRfhRkD
https://dl.doubtnut.com/l/_tHoEKGzxWS4T
https://dl.doubtnut.com/l/_GWkkcCmcQdTH


117. The reaction in which sodium cyanide is used

A. Perkin reaction

B. Reimer-Tiemann reaction

C. Benzoin condensation

D. Rosenmund reaction

Answer: C

Watch Video Solution

118. Tollen's reagent is

A. 

B. 

C. Both (a) and (b)

D. None of these

[Ag(NH3)2]NO3

[Ag(NH3)2]Br

https://dl.doubtnut.com/l/_GWkkcCmcQdTH
https://dl.doubtnut.com/l/_o0UjC48u0qJh


Answer: A

Watch Video Solution

119. The reaction of acetone with  gives

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

PCI5

CH3COCH2CI

CH3COCHCI2

CICH2COCH2CI

120.  gives 1,1-Dichloroethane with it

A. 

CH3CHO

PCI5

https://dl.doubtnut.com/l/_o0UjC48u0qJh
https://dl.doubtnut.com/l/_9oANjRYAIsjS
https://dl.doubtnut.com/l/_xEjutNCbUr8h


B. 

C. 

D. 

Answer: A

View Text Solution

S2CI2

CI2

HCI

121. Which of the following is called Bayer's reagent

A. Alk 

B. Acidic 

C. 

D. Red 

Answer: A

View Text Solution

KMnO4

KMnO4

K2HgI4

P /HF

https://dl.doubtnut.com/l/_xEjutNCbUr8h
https://dl.doubtnut.com/l/_CPyQV8trXtKM
https://dl.doubtnut.com/l/_38Zv8WEj1owC


122. Which compound is soluble in 

A. 

B. 

C. 

D. All

Answer: D

View Text Solution

H2O

HCHO

CH3CHO

CH3COCH3

123. Which of the following reagents is used to distinguish acetone and

acetophenone?

A. 

B. Grignard reagent

C. 

D. 

NaHSO3

Na2SO4

NH4CI

https://dl.doubtnut.com/l/_38Zv8WEj1owC
https://dl.doubtnut.com/l/_VESfh9Ax4lDW


Answer: A

Watch Video Solution

124.  C = O , Reactant ' A ' in the reaction is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A
Δ

−−−−−→
800 ∘C

CH2 =

CH3CH2CHO

CH3CHO

CH3 − C
∣ ∣

O

− CH3

C2H5OH

125. Acetone and chloroform reacts to produce

A. CH3COOC2H5

https://dl.doubtnut.com/l/_VESfh9Ax4lDW
https://dl.doubtnut.com/l/_UviUG94gcxeY
https://dl.doubtnut.com/l/_6URbAvfiXFPD


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CHO

(CH3)2C(OH)CCI3

HCHO

126. Formalin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HCHO

CH3CHO

HCOOH

CH3COOH

https://dl.doubtnut.com/l/_6URbAvfiXFPD
https://dl.doubtnut.com/l/_0tTi7rYRcK01
https://dl.doubtnut.com/l/_FsUOVTGsvp1a


127. Benedict's solution is not reduced by

A. Formaldehyde

B. Acetaldehyde

C. Glucose

D. Acetic anhydride

Answer: D

Watch Video Solution

128. Which one of the following is reduced with zinc and hydrochloric acid

to give the corresponding hydrocarbon?

A. Acetamide

B. Acetic acid

C. Ethyl acetate

D. Butan-2-one

https://dl.doubtnut.com/l/_FsUOVTGsvp1a
https://dl.doubtnut.com/l/_ZSIolx3xqxuu


Answer: D

Watch Video Solution

129. The increasing order of the rate of HCN addition to compound A-D is 

(A) HCHO 

(B)  


( C)  


(D) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COOH3

PhCOCH3

PhCOPh

A < B < C < D

D < B < C < A

D < C < B < A

C < D < B < A

https://dl.doubtnut.com/l/_ZSIolx3xqxuu
https://dl.doubtnut.com/l/_I2HWOv4g9LaB
https://dl.doubtnut.com/l/_YJQ3WC6AJ7CG


130. In the Cannizzaro reaction given below: 

 the slowest step is:

A. The attack of  at the carboxyl group

B. The transfer of hydride to the carbonyl group

C. The abstraction of proton from the carboxylic group

D. The deprotonation of 

Answer: B

Watch Video Solution

2Ph − CHO

Θ

OH
−−→ Ph − CH2OH + PhCO−

2

:
Θ

OH

PhCH2OH

131. Trichloroacetaldehyde was subjected to cannizzaro's reaction by

using NaOH. The mixture of the products contains sodium

trichloroacetate ion and another compound. The other compound is

A. 2,2,2-trichloroethanol

B. Trichloromethanol

https://dl.doubtnut.com/l/_YJQ3WC6AJ7CG
https://dl.doubtnut.com/l/_c0w7YiHjgVHu


C. 2,2,2-trichloropropanol

D. Chloroform

Answer: A

Watch Video Solution

132. In the gives transformation, which the following is the most

appropriate reagent 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

NH2NH2

Θ

OH

Zn − Hg/HCI

Na, Liq. NH3

NaBH4

https://dl.doubtnut.com/l/_c0w7YiHjgVHu
https://dl.doubtnut.com/l/_FiewbJdgFEY6


133. What is the reaction of acetaldehyde with concentraed sulphuric acid

A. No reaction

B. Decomposition

C. Charred to black residue

D. Polymerisation

Answer: D

Watch Video Solution

134. Identify the correct statement

A. Aldehydes on reduction gives secondary alcohols

B. Ketones on reduction gives primary alcohols

C. Ketones reduce Fehling's solution and give red cuprous oxide

D. Ketones do not react with alcohols

https://dl.doubtnut.com/l/_FiewbJdgFEY6
https://dl.doubtnut.com/l/_eyLdv5FjqTZ1
https://dl.doubtnut.com/l/_IubnoLVTa2uE


Answer: D

Watch Video Solution

135. A Wittig reaction with an aldehyde gives

A. Ketone compound

B. A long chain fatty acid

C. Olefin compound

D. Epoxide

Answer: C

Watch Video Solution

136. Which of the donot react with fehling solution ?

A. Acetaldehyde

https://dl.doubtnut.com/l/_IubnoLVTa2uE
https://dl.doubtnut.com/l/_NsWCfUZjLXz5
https://dl.doubtnut.com/l/_eztv6yHbMNNI


B. Benzaldehyde

C. Glucose

D. Formic acid

Answer: B

Watch Video Solution

137. Dimethyl ketones are usually characterised through

A. Tollen reagent

B. Iodoform test

C. Schiff test

D. Benedict reagent

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eztv6yHbMNNI
https://dl.doubtnut.com/l/_Kn3fB8mmxnjC
https://dl.doubtnut.com/l/_uU8fntjLJbYe


138. Treatment of propionaldehyde with dilute  solution gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NaOH

CH3CH2COOCH2CH2CH3

CH3CH2CHOHCH(CH3)CHO

CH3CH2CHOHCH2CH2CHO

CH3CH2COCH2CH2CHO

139. The aldehyde which react with  to produce an alcohol and

sodium salt is

A. 

B. 

C. 

D. 

NaOH

HCHO

CH3CHO

CH3CH2CHO

CH3CH2CH2CHO

https://dl.doubtnut.com/l/_uU8fntjLJbYe
https://dl.doubtnut.com/l/_0u0tbCgLxMUm


Answer: A

Watch Video Solution

140. Cyanohydrin of which of the following forms lactic acid

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HCHO

CH3COCH3

CH3CHO

CH3CH2CHO

141. Which of the following is used to detect aldehydes

A. Millon's test

https://dl.doubtnut.com/l/_0u0tbCgLxMUm
https://dl.doubtnut.com/l/_RkgMi7d09prm
https://dl.doubtnut.com/l/_Oq2jstsnd6Tu


B. Tollen's reagent

C. Neutral ferric chloride solution

D. Molisch's test

Answer: B

Watch Video Solution

142. Which of the following does not give brick red ppt. with Fehling

solution ?

A. Benzaldehyde

B. Salicylaldehyde

C. Acetaldehyde

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Oq2jstsnd6Tu
https://dl.doubtnut.com/l/_RP6DBCkqZwrC


143.  is

A. Ketone

B. Acetaldehyde

C. Propionaldehyde

D. Formaldehyde

Answer: A

Watch Video Solution

A → (CH3)2C = CHCOCH3, A

144. The end prduct in the Cannizaro's reaction of benzaldehyde is

A. 

B. 

C. 

D. 

PhCOO−Na+ , PhCH2OH

PhCO2H, PhCH2CO2H

PhCH2Oh, PhCOCH3

PhCO2H, PhCOCH3

https://dl.doubtnut.com/l/_RP6DBCkqZwrC
https://dl.doubtnut.com/l/_4bhfbf0uMXR0
https://dl.doubtnut.com/l/_jK4yZ7pJWdui


Answer: A

Watch Video Solution

145. Which one of the following does not form sodium bisulphite addition

product with sodium bisulphite solution

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3OH

C6H5COCH3

C6H5CHO

CH3CHO

146. Which is most reactive of the following ?

https://dl.doubtnut.com/l/_jK4yZ7pJWdui
https://dl.doubtnut.com/l/_pGraCoVryYX9
https://dl.doubtnut.com/l/_We9tdffz6AHm


A. Acetone

B. Benzophenone

C. Benzaldehyde

D. Acetyl chloride

Answer: D

Watch Video Solution

147. Which of the following does not undergo Cannizzaro's reaction ?

A. Benzaldehyde

B. 2-methyl propanal

C. p-methoxy benzaldehyde

D. 2,2-dimethyl propanal

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_We9tdffz6AHm
https://dl.doubtnut.com/l/_MItosn6qr42g


148. A ketone gives a yellow precipitate, when treated with in an alkaline

solution. Thus, the ketone is :

A. A cyclic ketone

B. A methyl ketone

C. An unsaturated ketone

D. None of these

Answer: B

Watch Video Solution

I2

149. The order of susceptibility of nucleophilic attack on aldehydes

follows the order

A. 

B. 

1∘ > 3∘ > 2∘

1∘ > 2∘ > 3∘

https://dl.doubtnut.com/l/_MItosn6qr42g
https://dl.doubtnut.com/l/_8iHS6awhd9yL
https://dl.doubtnut.com/l/_55ffjBy4AeUV


C. 

D. 

Answer: B

Watch Video Solution

3∘ > 2∘ > 1∘

2∘ > 3∘ > 1∘

150. . The reaction given is

A. Aldol condensation

B. Knovenegel reaction

C. Cannizzaro reaction

D. None of these

Answer: C

Watch Video Solution

OHC − CHO
OH −

−−→ HOH2C − COOH

https://dl.doubtnut.com/l/_55ffjBy4AeUV
https://dl.doubtnut.com/l/_K8iB7j2b2Uzx


151.  and  are detected by

A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

HCHO HCOOH

NaHCO3

CuSO4 /NaOH

AgNO3 /NH4OH

152. Which can undergo haloform reaction ?

A. 

B. 

C. Acetophenone

D. Benzophenone

(CH3)3C − OH

(C2H5)2C = 0

https://dl.doubtnut.com/l/_0Br3w6tK0Lh4
https://dl.doubtnut.com/l/_uyA7R2p1py8J


Answer: C

Watch Video Solution

153.  is

A. Formalin

B. Paraformaldehyde

C. Paraldehyde

D. Metaformaldehyde

Answer: D

Watch Video Solution

3HCHO
aq .

cooled
⇐=⇒ X. X

154. An aromatic compound 'X' with molecular formula  gives the

following chemical tests 

(i) Forms 2,4-DNP derivative 

C9H10O

https://dl.doubtnut.com/l/_uyA7R2p1py8J
https://dl.doubtnut.com/l/_U2OjgxytnU3u
https://dl.doubtnut.com/l/_ZI8D4vy1lp8o


(ii) Reduces Tollen's reagent 

(iii) Undergoes Cannizzaro reaction and 

(iv) On vigorous oxidation 1,2-benzenedicarboxylic acid is obtained X is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

155. Aldehydes and ketones give addition reaction with

A. Hydrazine

B. Phenyl hydrazine

C. Semicarbazide

https://dl.doubtnut.com/l/_ZI8D4vy1lp8o
https://dl.doubtnut.com/l/_KI8bycDz90RC


D. Hydrogen cyanide

Answer: D

Watch Video Solution

156. Only an aldehyde having….can undergo the aldol condensation

A. At least one beta H atom

B. At least one alpha H atom

C. An aromatic ring

D. No alpha H atom

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KI8bycDz90RC
https://dl.doubtnut.com/l/_DNkhJQuC1TgH


157. Identify the organic compound which on heating with strong

solution of NaOH, partially converted into an acid salt and partially into

alcohol.

A. Benzyl alcohol

B. Acetaldehyde

C. Acetone

D. Benzaldehyde

Answer: D

Watch Video Solution

158. Benzaldehyde and acetone can be best distinguished using â€¦â€¦..

A. Fehling's solution

B. Sodium hydroxide solution

C. 2,4-DNP

https://dl.doubtnut.com/l/_r426HOy4VpkD
https://dl.doubtnut.com/l/_d32ebvEkGIPe


D. Tollen's reagent

Answer: D

Watch Video Solution

159. The correct sequence of steps involved in the mechanism of

cannizzaro's reaction is……..

A. Nucleophilic attack, transfer of  and transfer of 

B. Transfer of , transfer of  and nucleophilic attack

C. Transfer of , nucleophilic attack and transfer of 

D. Electrophilic attack by , transfer of  and transfer of 

Answer: A

Watch Video Solution

H − H +

H − H +

H + H −

OH − H + H −

https://dl.doubtnut.com/l/_d32ebvEkGIPe
https://dl.doubtnut.com/l/_zWV64E9OfIY9


160. An organic compound 'A' burns with a sooty flame. It is negative

towards Tollen's reagent test and positive for Borsche's reagent test. The

compound 'A' is

A. Benzaldehyde

B. Acetophenone

C. Acetone

D. Salicylic's acid

Answer: B

Watch Video Solution

161. Methyl ketones are usually characterised through

A. Iodoform test

B. Fehling solution

C. Tollen reagent

https://dl.doubtnut.com/l/_j6GoWAk8jQxE
https://dl.doubtnut.com/l/_gFRi98ferv2Q


D. Schiff reagent

Answer: A

Watch Video Solution

162. Which of the following compounds is most reactive towards

nucleophilic addition reactions?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CHO

PhCOCH3

PhCOPh

CH3COCH3

https://dl.doubtnut.com/l/_gFRi98ferv2Q
https://dl.doubtnut.com/l/_XVpLvNp5RKuZ


163. To distinguish between 2-pentanone and 3-pentanone which reagent

can be used ?

A. 

B. 

C. 

D. Iodine

Answer: D

Watch Video Solution

K2Cr2O7 /H2SO4

Zn − Hg/HCI

SeO2

/NaOH

164. The dipeptide Gln-Gly on treatment with  followed by

aqueous work up gives :

A. Only 

B. A mixture of  and 

C. Only 

CH3COCI

CH3COOCH2CH3

CH3COOH EtOH

CH3COOH

https://dl.doubtnut.com/l/_GTcUX3xuY3TT
https://dl.doubtnut.com/l/_o1I541RQFKxo


D. Only 

Answer: A

Watch Video Solution

EtOH

165. The most stabl enol tautomer of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MeCOCH2CO2Et

CH2 = C(OH)CH2CO2Et

MeC(OH) = CHCO2Et

MeCOCH = C(OH)OEt

CH2 = C(OH)CH = C(OH)Et

https://dl.doubtnut.com/l/_o1I541RQFKxo
https://dl.doubtnut.com/l/_NKpFFywcz6la


166. In the following species, the one which is likely to be the intermediate

during benzoin condensation of benzaldehyde, is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Ph − C
( + )
≡ O

Ph −
( − )

C = O

167. An optically active compound having molecular formula  on

ozonolysis gives acetone as one of the products. The structure of the

compound is

A. 

B. 

C8H16

https://dl.doubtnut.com/l/_Ha60WQMmKOsk
https://dl.doubtnut.com/l/_rBiswX2PT0ut


C. 

D. 

Answer: B

View Text Solution

168. Bromination of  in acetic acid medium produces mainly

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

PhCOMe

https://dl.doubtnut.com/l/_rBiswX2PT0ut
https://dl.doubtnut.com/l/_5sFFmtOiy2Ot


169. Cinnamci acid is fomed when  condenses with 

 in the presence of

A. Conc. 

B. Sodium acetate

C. Sodium metal

D. Anhydrous 

Answer: B

Watch Video Solution

C6H5 − CHO

(CH3CO2)O

H2SO4

ZnCI2

170. Aldehydes and ketones can be reduced to hydrocarbon by using

A. 

B. 

C. 

D. 

LiAIH4

H2 /Pd − BaSO4

Na − Hg/HCI

NH2 − NH2 /C2H5ONa

https://dl.doubtnut.com/l/_zw5mpGn3tsGQ
https://dl.doubtnut.com/l/_26WciJXWv7Ss


Answer: D

Watch Video Solution

171. Which of the following will form two isomers with semi carbazide

A. Benzaldehyde

B. Acetone cyanohydrin

C. Benzoquinone

D. Benzophenone

Answer: A

Watch Video Solution

172. Predict the product 

https://dl.doubtnut.com/l/_26WciJXWv7Ss
https://dl.doubtnut.com/l/_5RU78cEijFmc
https://dl.doubtnut.com/l/_6Ow1j8WElFNl


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

173. Select the reagent for the following reaction 

A. 

B. 

C. 

D. 

Answer: B

SeO2

O3, Zn/H2O

O3, H2O2 − CH3COOH

PCC

https://dl.doubtnut.com/l/_6Ow1j8WElFNl
https://dl.doubtnut.com/l/_Sp5bB4gNTZXR


View Text Solution

174.  

Find the organic acid product from the above reaction

A. 

B. 

C. 

D. None of the above

Answer: A

View Text Solution

CH3COO
−Na+

175. The product of this reaction is 

A. 

https://dl.doubtnut.com/l/_Sp5bB4gNTZXR
https://dl.doubtnut.com/l/_KZYLDdbfQik7
https://dl.doubtnut.com/l/_wPa88M7HxX52


B. 

C. 

D. 

Answer: B

View Text Solution

176. Fehling A and Fehling B are :

A.  solution and  solution

B.  solution and alkaline solution of sodium potassium

tartarate

C.  solution and alkaline solution of sodium citrate

D.  solution and 

Answer: B

Watch Video Solution

CuSO4 NH4OH

CuSO4

CuSO4

CuSO4 NaOH

https://dl.doubtnut.com/l/_wPa88M7HxX52
https://dl.doubtnut.com/l/_JUr7fI1v4P3g


177. Total number of organic products obtained by the reduction of

methyl ethanoate using  is 

A. 2

B. 3

C. 4

D. 5

Answer: A

Watch Video Solution

LiAlH4 :

178. Compound (A) undergoes Cannizzaro reaction and (B) undergeos

positive iodoform test. Therefore

A. A= Acetaldehyde , -Pentanal

B. -Pentanone

B = 1

A = C6H5CH2CHO, B = 3

https://dl.doubtnut.com/l/_JUr7fI1v4P3g
https://dl.doubtnut.com/l/_60GOPxQqeNhC
https://dl.doubtnut.com/l/_kSMZKjDsccpE


C. A=Formaldehyde , -Pentanone

D. A= Propionaldehyde , -Pentanol

Answer: C

Watch Video Solution

B = 2

B = 1

179. Aldol condensation does not occur between

A. Two different aldehydes

B. Two different ketones

C. An aldehyde and ketone

D. An aldehyde and an ester

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_kSMZKjDsccpE
https://dl.doubtnut.com/l/_6pAcD1sTc7Hq


180. Which of the following statements is not correct

A. Aldehydes and ketones undergo nucleophilic additions

B. Aldehydes and ketones undergo electrophilic substitutions

C. Aldehydes and ketones contains polar carbonyl groups

D. Lower members of aldehydes and ketones are soluble in water due

to hydrogen bonding

Answer: B

Watch Video Solution

181. Benzophenone can be converted into benzene using

A. Fused alkali

B. Anhydrous 

C. Sodium amalgam in water

AICI3

https://dl.doubtnut.com/l/_fEhhJeuAhT6o
https://dl.doubtnut.com/l/_V90DPpkTZfzS


D. Acidified dichromate

Answer: A

Watch Video Solution

182. The product formed by the reaction of chlorine with benzaldehyde in

the absence of a catalyst is

A. Chlorobenzene

B. Benzyl chloride

C. Benzoyl chloride

D. o-chlorobenzaldehyde

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_V90DPpkTZfzS
https://dl.doubtnut.com/l/_sXtbgOBicIvz


183. Consider the following statement acetophenone can be prepared by 

(1) Oxidation of 1-phenylethanol 

(2) Reaction of banzylalcohol with methyl magnesium bromide 

(3) Friedel-Crafts reaction of benzene with acetyl chloride 

(4) Distillation of calcium benzoate

A. 1 and 2

B. 1 and 4

C. 1 and 3

D. 3 and 4

Answer: C

Watch Video Solution

184. Which one of the following pairs is not correctly matched ?

A. > C = O
Clemensen's reduction
−−−−−−−−−−−−→ > CH2

https://dl.doubtnut.com/l/_TxlbsyQCXS5M
https://dl.doubtnut.com/l/_poBlSz6p4cQ2


B. 

C. 

D. 

Answer: B

Watch Video Solution

> C = O
Wolff-Kishner reduction
−−−−−−−−−−−−−→ > CHOH

−COCI
Rosenmund's reduction
−−−−−−−−−−−−−→ CHO

−C ≡ N
Stephen's reduction
−−−−−−−−−−−→ CHO

185. The product of following reaction 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_poBlSz6p4cQ2
https://dl.doubtnut.com/l/_WGxk7NAhX4Yu


186.  


Compound X on hydrolysis gives

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − CHO + HCN → X

CH3 − CH2 − COOH

CH3 − CH2 − CH2 − NH2

CH3 − CO − COOH

CH3 − CH
∣

OH

− COOH

187. Which one of the following NOT give a primary alcohol on reduction ?

A. Propanoic acid

B. Propanal

C. Methyl propanoate

https://dl.doubtnut.com/l/_WGxk7NAhX4Yu
https://dl.doubtnut.com/l/_JVunlHvgH9S6
https://dl.doubtnut.com/l/_Vdqd2Z1H7LE2


D. Propan-2-one

Answer: D

Watch Video Solution

188. One mole of an organic compound is found to require only  of

oxygen to produce an acid. Which class of compounds does the starting

material belong to ?

A. Alcohol

B. Ether

C. Ketone

D. Aldehyde

Answer: D

Watch Video Solution

0.5mol

https://dl.doubtnut.com/l/_Vdqd2Z1H7LE2
https://dl.doubtnut.com/l/_VfWNXgRSRIJA
https://dl.doubtnut.com/l/_FLw6A1zW3BKA


189. Contents of three bottles were found to react 

(i) Neither with Fehling's solution nor with Tollens reagent 

(ii) Only with Tollens reagent but not with Fehling's solution 

(iii) With both Tollens and Fehling's solution. If they contained ethanal

(acetaldehyde)
 or propanone (acetone) or benzal (benzaldehyde), which

bottle contained which

A. In (i) benzal, in (ii) ethanal and in (ii) propanone

B. In (i) benzal, in (ii) propanone and in (iii) ethanal

C. In (i) propanone, in (ii) benzal and in (iii) ethanal

D. In (i) propanone, in (ii) ethanal and in (iii) benzal

Answer: C

Watch Video Solution

190.  is an example ofArH + R −

O

∣ ∣

C − CI
Lewis acid
−−−−−→ Ar −

O

∣ ∣

C − R + HCI

https://dl.doubtnut.com/l/_FLw6A1zW3BKA
https://dl.doubtnut.com/l/_oxLiDrXNunTD


A. Friedel-Craft alkylation

B. Friedel-Craft acylation

C. Cannizzaro reaction

D. Claisen condensation

Answer: B

Watch Video Solution

191. (A) Lower aldehydes and ketones are soluble in water but solubility

decrease as the molecular masses increase. 

(R) Distinction between aldehydes and ketones can be made by Tollen's

reagent.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

https://dl.doubtnut.com/l/_oxLiDrXNunTD
https://dl.doubtnut.com/l/_fgW1IkeBjiSO


C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

192. Assertion: Acetaldehyde on treatment with alkali gives aldol. 

Reason: Acetaldehyde molecules contains  hydrogen atom.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

α

https://dl.doubtnut.com/l/_fgW1IkeBjiSO
https://dl.doubtnut.com/l/_DcurLO7tcNCq


Watch Video Solution

193. STATEMENT -I : Acetophenone and benzophenone can be

distinguished by iodoform test 

STATEMENT -2 : Acetophenone and benzophenone both are carbonyl

compound.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DcurLO7tcNCq
https://dl.doubtnut.com/l/_JubEHOTgeB8H
https://dl.doubtnut.com/l/_d7KEKMIWIZf5


194. Assertion: Isobutanal does not give iodoform test. 

Reason : It does not have -hydrogen.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: C

Watch Video Solution

α

195. Assertion: Benzaldehyde is more reactive than ethanal towards

nucleophilic attact. 

Reason : The overall effect of-  and  effect of phenyl group decreasel +R

https://dl.doubtnut.com/l/_d7KEKMIWIZf5
https://dl.doubtnut.com/l/_YWkVPu1JXFuu


the electron density on the carbon atom of  group in

benzaldehyde.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer:

Watch Video Solution

> C = O

196. Assertion : Aldol condensation can be catalysed both by acids and

bases. 

Reason : - hydroxy aldehydes or ketones readily undergo acid catalysed

dehydration.

β

https://dl.doubtnut.com/l/_YWkVPu1JXFuu
https://dl.doubtnut.com/l/_LeHFpcI39bJM


A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer: B

Watch Video Solution

197. Statement-I: Ketones are less reactive than aldehydes. 

Because 

Statement-II: Ketones do not give Schiff's test.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

https://dl.doubtnut.com/l/_LeHFpcI39bJM
https://dl.doubtnut.com/l/_YAYS3E5QVSHi


B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer: B

Watch Video Solution

198. Assertion: Oximes are less acidic than hydroxyl amine. 

Reason: Oximes of aldehydes and ketones show geometrical isomerism.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

https://dl.doubtnut.com/l/_YAYS3E5QVSHi
https://dl.doubtnut.com/l/_3DYg4uIPH53f


D. If assertion is false but reason is true

Answer:

Watch Video Solution

199. Assertion: The bond energy of  is less than 

in alkenes. 

Reason: The carbon atom in carbonyl group is  hybridised.

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer:

> C = O > C = C <

sp2

https://dl.doubtnut.com/l/_3DYg4uIPH53f
https://dl.doubtnut.com/l/_Otk2Fa7b7eoD


Watch Video Solution

200. Assertion:  is more stable than . 


Reason: Resonance in carbonyl compound provides  and `

A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer: B

Watch Video Solution

R − C ≡ O+ R − C + = O

C +

201. Assertion:  reacts with  to form urotropine. 


Reason: Urotropine is used as medicine in case of urinary troubles.

CH3CHO NH3

https://dl.doubtnut.com/l/_Otk2Fa7b7eoD
https://dl.doubtnut.com/l/_CBUpkxXxGepM
https://dl.doubtnut.com/l/_FI5MFv75bvN1


A. If both assertion and reason are true and the reason is the correct

explanation of the assertion

B. If both assertion and reason are true but reason is not the correct

explanation of the assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer:

Watch Video Solution

202. Reaction of carbonyl compound with one of the following reagents

involves nucleophilic addition followed by elimination of water. The

reagent is:

A. A Grignard reagent

B. Hydrazine in presence of feebly acidic solution

C. Hydrocyanic acid

https://dl.doubtnut.com/l/_FI5MFv75bvN1
https://dl.doubtnut.com/l/_xyMfrkQgzA7Q


D. Sodium hydrogen sulphite

Answer: B

Watch Video Solution

203. An organic compound 'X' having molecular formula  yield

phenylhydrazone and gives negative response to the iodoform test and

Tollens test . It produces n-pentane on reduction. 'X' could be

A. 2-pentanone

B. 3-pentanone

C. n-amyl alcohol

D. pentanal

Answer: B

Watch Video Solution

C5H10O

https://dl.doubtnut.com/l/_xyMfrkQgzA7Q
https://dl.doubtnut.com/l/_nd3AE0uasAvq
https://dl.doubtnut.com/l/_febPVHHJMQcD


204. Treatment of cyclopentanone  with methyl lithium gives which of

the following species

A. Cyclopentanonyl cation

B. Cyclopentanonyl radical

C. Cyclopentanonyl biradical

D. Cyclopentanonyl anion

Answer: D

View Text Solution

205. The product formed by the reaction of an aldehyde with a primary

amine is:

A. Schiff base

B. Ketone

C. Carboxylic acid

https://dl.doubtnut.com/l/_febPVHHJMQcD
https://dl.doubtnut.com/l/_AQjQqFPeDrRi


D. Aromatic acid

Answer: A

Watch Video Solution

206. The correct structure of the product A formed in the reaction 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_AQjQqFPeDrRi
https://dl.doubtnut.com/l/_KUsvwLfSallV


Critical Thinking Objective Questions

207. Of the following which is the products formed when cyclohexanone

undergoes aldol condensation followed by heating

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1. The major organic product formed from the following reaction 

A. 

https://dl.doubtnut.com/l/_wQCLIXFndJnD
https://dl.doubtnut.com/l/_pCjdJNsdGaxu


B. 

C. 

D. 

Answer: B

View Text Solution

2. Match the compounds given in List I with List II and select the suitable

option using the code given below 

 


Code

A. 

B. 

C. 

ListI ListII

(A)Benzaldehyde (i)Phenolphthalein

(B)Phthalic anhydride (ii)Benzoin condensation

(C)Phenyl benzoate (iii)Oil of wintergreen

(D)Methyl salicylate (iv)Fire rearrangement

(A) (B) (C) (D).

(ii) (iii) (iv) (i).

(A) (B) (C) (D).

(ii) (i) (iv) (iii).

(A) (B) (C) (D).

(iv) (i) (iii) (ii).

https://dl.doubtnut.com/l/_pCjdJNsdGaxu
https://dl.doubtnut.com/l/_2EiBjnaE98gy


D. 

Answer: B

Watch Video Solution

(A) (B) (C) (D).

(iv) (ii) (iii) (i).

3. Benzophenone does not react with

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

RNH2

SO3

NaOH

Na2CO3

4. Aldehyde and ketones can decolourise

https://dl.doubtnut.com/l/_2EiBjnaE98gy
https://dl.doubtnut.com/l/_lCnL4YUtXAaL
https://dl.doubtnut.com/l/_LN7AaaZBiu56


A. Bromine water

B. Quick lime

C. Dil. 

D. None of these

Answer: D

Watch Video Solution

H2SO4

5. Which of the following pairs can be distinguished by sodium

hypoiodite?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

CH3CHO CH3COCH3

CH3CH2CHO CH3COCH3

CH3CH2OH CH3CH2CHOHCH3

CH3OH CH3CH2CHO

https://dl.doubtnut.com/l/_LN7AaaZBiu56
https://dl.doubtnut.com/l/_TLkrTzPlSChJ


Watch Video Solution

6. Consider the following reactions 

I.  


II.  


III.  


Carboxylic acid is the final product only in the reduction (s)

A. I,II

B. II,III

C. II

D. III

Answer: B

Watch Video Solution

H3CCI3

OH Θ

−−→

H3CCHO
[Ag (NH3 ) 2 ]

+
OH Θ

−−−−−−−−−−−−→

H3CCO2C(2)H5

OH Θ

−−→

https://dl.doubtnut.com/l/_TLkrTzPlSChJ
https://dl.doubtnut.com/l/_mFmJFPfV29ru


7. Identify the product (E ) in the following sequence of reactions 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

8. On vigorous oxidation by permanganate solution

 gives

A. 

B. 

(CH3)2C = CH − CH2CH2CH3

CH3 −

OH

∣

C
∣

CH3

−

OH

∣

CH − CH2CH5

https://dl.doubtnut.com/l/_GU9ICLK0yS5u
https://dl.doubtnut.com/l/_hBXzQ3kSFa1g


C. 

D. 

Answer: D

View Text Solution

9. Which is not true about acetophenone ?

A. Reacts to form 2,4-dinitrophenyl hydrazine

B. Reacts with Tollen's reagent to form silver mirror

C. Reacts with  to form iodoform

D. On oxidation with alkaline  followed by hydrolysis gives

benzoic acid

Answer: B

Watch Video Solution

I2 /NaOH

KMnO4

https://dl.doubtnut.com/l/_hBXzQ3kSFa1g
https://dl.doubtnut.com/l/_jJruw1xPlgG7
https://dl.doubtnut.com/l/_E5vQRlyFuibu


10. A compound containing only carbon, hydrogen and oxygen has

molecular mass of 44.0. On complete oxidation, it is converted into a

compound of molecular mass 60.0. The compound is :

A. An aldehyde

B. An acid

C. An alcohol

D. An ether

Answer: A

Watch Video Solution

11. The key step in cannizzaro's reaction is the intermolecular shift of

A. Proton

B. Hydride ion

C. Hydronium ion

https://dl.doubtnut.com/l/_E5vQRlyFuibu
https://dl.doubtnut.com/l/_8AvC0CldD5Wq


D. Hydrogen bond

Answer: B

Watch Video Solution

12. One of the following named reaction is an example of

"disproportionation reaction". Identify it.

A. Birch reduction

B. Aldol condensation

C. Reimer-Tiemann reaction

D. Cannizzaro reaction

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8AvC0CldD5Wq
https://dl.doubtnut.com/l/_g38ask9mRvsw


13.  Products of the above reaction

contain

A. 

B. 

C. 

D. Both (a) and (b)

Answer: D

Watch Video Solution

CH3 − CH2 −

O

∣ ∣

C − OC2H5

Na
∗

OH
−−−→
H2O∗

CH3 − CH2 −

O

∣ ∣

C −
∗

O−

CH3 − CH2 −

O∗

∣ ∣

C − O−

CH3CH2 −
∗

O − H

14. In which of the following reactions, the product obtained is chiral ?

A. 

B. 

C. 

CH3COCH3

NaBH4
−−−→

CH3COCI
Rosenmund's reduction
−−−−−−−−−−−−−→

CH3CH2CO2CH2CH3

Sn .HCI
−−−−→

https://dl.doubtnut.com/l/_ME7Xyh1xoCEn
https://dl.doubtnut.com/l/_NiyyTcB0H5Oo


D. 

Answer: D

Watch Video Solution

CH3CH2COCH3

LiAIH4

−−−−→

15. The conversion of acetophenone to acetanilide is best accompanied by

using :

A. Backmann rearrangement

B. Curtius rearrangement

C. Lossen rearrangement

D. Hofmann rearrangement

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NiyyTcB0H5Oo
https://dl.doubtnut.com/l/_qyueSvjBdEFd


16. Which of the following will not give iodoform test ?

A. Isopropyl alcohol

B. Ethanol

C. Ethanal

D. Benzyl alcohol

Answer: D

Watch Video Solution

17. Which fo the following statements regarding chemical properties of

acetophenone are wrong ? 

I. It is reduced to methyl phenyl carbinol by sodium acid and ethanol 

II. It is oxidised to benzoic acid with acidified  


III. It does not undergo electrophilic substitution like nitration at meta

position ltbr. IV. It does not undergo iodoform reaction with iodine and

alkali.

KMnO4

https://dl.doubtnut.com/l/_CMNCDVzQKZDY
https://dl.doubtnut.com/l/_G4IhNZqfH0Af


A. 1 and 2

B. 2 and 4

C. 3 and 4

D. 1 and 3

Answer: C

Watch Video Solution

18. An organic compound 'A' has the molecular formula , it

undergoes iodoform test. Whet satruated with HCl it gives 'B' of

molecular foumula . A and B, respectively are

A. Propanal and mesitylene

B. Propanone and mesityl oxide

C. Propanone and 2,6-dimethyl -2,5-heptadien-4-one

D. Propanone and mesitylene oxide

C3H6O

C9H14O

https://dl.doubtnut.com/l/_G4IhNZqfH0Af
https://dl.doubtnut.com/l/_FixUHRTfsDUd


Answer: C

Watch Video Solution

19. Which alkene is formed from the following ylide carbonyl pair 

A. 3-methyl-3-heptene

B. 4-methyl-3-heptene

C. 5-methyl-3-heptene

D. 1-methyl-5-heptene

Answer: A

Watch Video Solution

CH3CH2CH2CH = PPh3 + 2=Butanone

20. The most reactive compound towards formation of cyanohydrin on

treatment with KCN followed by acidification is

https://dl.doubtnut.com/l/_FixUHRTfsDUd
https://dl.doubtnut.com/l/_Y9zK0VBrGdvi
https://dl.doubtnut.com/l/_pOyYHoKbKT5T


A. Benzaldehyde

B. p-nitrobenzaldehyde

C. Phenyl acetaldehyde

D. p-hydroxybenzaldehyde

Answer: B

Watch Video Solution

21. Which of the following will fail to react with potassium dichromate

and dilute sulphuric acid?

A. Ethyl alcohol (ethanol)

B. Acetaldehyde (ethanal)

C. Secondary propyl alcohol (2-propanol)

D. Acetone (propanone)

Answer: D

https://dl.doubtnut.com/l/_pOyYHoKbKT5T
https://dl.doubtnut.com/l/_NF1FCxNNLV1f


Jee Section Only One Choice Correct Answer

Watch Video Solution

1. When acetaldehyde is heateed with Fehling's solution, it gives a red

precipitate of :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu

CuO

Cu2O

Cu(OH)2

2. The Cannizzaro's reaction is not given by

https://dl.doubtnut.com/l/_NF1FCxNNLV1f
https://dl.doubtnut.com/l/_DEVgUdHn3ZQV
https://dl.doubtnut.com/l/_zqyYF3UjWdua


A. Trimethyl acetaldehyde

B. Acetaldehyde

C. Benzaldehyde

D. Formaldehyde

Answer: B

Watch Video Solution

3. The compound that will not give iodoform on treatment with alkali and

iodine is :

A. Acetone

B. Ethanol

C. Diethyl ketone

D. Isopropyl alcohol

Answer: C

https://dl.doubtnut.com/l/_zqyYF3UjWdua
https://dl.doubtnut.com/l/_ISyYws3HzLEL


Watch Video Solution

4. Which of the following compounds is oxidised to prepare methyl ethyl

ketone?

A. 2-propanol

B. 1-butanol

C. 2-butanol

D. t-butyl alcohol

Answer: C

Watch Video Solution

5. Reaction  is

A. Electrophilic substitution

B. Electrophilic addition

https://dl.doubtnut.com/l/_ISyYws3HzLEL
https://dl.doubtnut.com/l/_PrJd7lFgRmfH
https://dl.doubtnut.com/l/_qwHvbzrJbBAt


C. Nucleophilic addition

D. Nucleophilic substitution

Answer: C

View Text Solution

6. The Grignard reagent, on reaction with acetone, forms :

A. Tertiary alcohol

B. Secondary alcohol

C. Acetic acid

D. Acetaldehyde

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qwHvbzrJbBAt
https://dl.doubtnut.com/l/_boT7GsdMGPpC


7. m-Chlorobenzaldehyde on reaction with conc. KOH at room

temperature gives:

A. Potassium m-chlorobenzoate and m-chlorobenzyl alcohol

B. m-hydroxy benzaldehyde and m-chlorobenzyl alcohol

C. m-chlorobenzyl alcohol and m-hydroxy benzyl alcohol

D. Potassium m-chlorobenzoate and m-hydroxy benzaldehyde

Answer: A

Watch Video Solution

8. In the following reacton, product P is 

A. 

B. 

R −

O

∣ ∣

C − Cl
H2

−−−−−−→
Pd−BaSO4

P

RCH2OH

RCOOH

https://dl.doubtnut.com/l/_iIyd909RZg5x
https://dl.doubtnut.com/l/_wT1GWhxkWnVS


C. 

D. 

Answer: C

Watch Video Solution

RCHO

RCH3

9. Base catalysed aldol condensation occurs with

A. Benzaldehyde

B. 2,2-dimethyl propionaldehyde

C. Acetaldehyde

D. Formaldehyde

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wT1GWhxkWnVS
https://dl.doubtnut.com/l/_yfHsZ2bhAfKj


10. Which of the following aldehydes is most reactive towards

nucleophilic addition reactions ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

HCHO

CH3CHO

C2H5CHO

CH3COCH3

11. In the Cannizzaro reaction given below: 

 the slowest step is:

A. The attack of OH at the carbonyl group

B. The transfer of hydride to the carbonyl group

C. The abstraction of proton from the carboxylic group

2Ph − CHO

Θ

OH
−−→ Ph − CH2OH + PhCO−

2

https://dl.doubtnut.com/l/_Jdp37TP3fPE3
https://dl.doubtnut.com/l/_x7LrzAmb4PSd


D. The deprotonation of 

Answer: B

Watch Video Solution

Ph − CH2OH

12. Among the given compounds, the most susceptible to nucleophilic

attack at the cabonyl group is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MeCOCI

MeCHO

MeCOOMe

MeCOOCOMe

https://dl.doubtnut.com/l/_x7LrzAmb4PSd
https://dl.doubtnut.com/l/_7j2r7RXQz6B7


13. Which of the following will react with water?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CHCI3

CI3C. CHO

CCI4

CICH2CH2CI

14. The following reagent converts

A. Aq. 

B. Acidic 

C. 

D. 

C6H5COCHO → C6H5CHOHCOONa

NaOH

Na2S2O3

Na2CrO4 /H2SO4

NaNO2 /HCI

https://dl.doubtnut.com/l/_AWOavTefiaKo
https://dl.doubtnut.com/l/_QDLqbfDNXcI2


Answer: A

Watch Video Solution

15. The enol from of acetone, after treatment with  gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

D2O,

CH3 −

OD

∣

C = CH2

CD3 −

O

∣ ∣

C − CD3

CH2 =

OH

∣

C − CH2D

CD2 =

OD

∣

C − CD3

16. Which one of the following will most readily be dehydrated in acidic

condition

https://dl.doubtnut.com/l/_QDLqbfDNXcI2
https://dl.doubtnut.com/l/_j5d0YxUeX883
https://dl.doubtnut.com/l/_rHy3lOINVxD0


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

17. Which of the following has the most acidic hydrogen ?

A. 3-hexanone

B. 2,4-hexanedione

C. 2,5-hexanedione

D. 2,3-hexanedione

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rHy3lOINVxD0
https://dl.doubtnut.com/l/_8euZlKimK5SC


18. A mixture of benzaldehyde and formaldehyde on heating with

aqueous NaOH solution gives

A. Benzyl alcohol and sodium formate

B. Sodium benzoate and methyl alcohol

C. Sodium benzoate and sodium formate

D. Benzyl alcohol and methyl alcohol

Answer: A

Watch Video Solution

19. Compound 'A' (molecular formula ) is treated with acidified

potassium dichromate to form a product 'B' (molecular formula 

)'B' forms a shining silver mirror on warming with ammoniacal silver

nitrate 'B' when treated with an aqueous solution of 

and sodium acetate gives a product 'C'. Identify the structure of 'C'

C3H8O

C3H6O

H2NCONHNH2

https://dl.doubtnut.com/l/_8euZlKimK5SC
https://dl.doubtnut.com/l/_LG8ZB6X84wCI
https://dl.doubtnut.com/l/_3iIrDmNUFxds


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2CH = NNHCONH2

CH3 − CH = NN
∣

CH3

CONH2

CH3CH = N
∣

CH3

CONHNH2

CH3CH2CH − NCONHNH2

20.  

Major product is

A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_3iIrDmNUFxds
https://dl.doubtnut.com/l/_9Xzge26CrPxa


View Text Solution

21. The product of acid hydrolysis of P and Q can be distinguished by 

A. Lucas reagent

B. 2,4-DNP

C. Fehling's solution

D. 

Answer: C

View Text Solution

NaHSO3

22.  is

A. 

B. 

Ph − C ≡ C − CH3

Hg2 + /H +

−−−−−−→ A, A

https://dl.doubtnut.com/l/_9Xzge26CrPxa
https://dl.doubtnut.com/l/_iGjylBk6bqGV
https://dl.doubtnut.com/l/_F0FNxkoFoWHU


C. 

D. 

Answer: A

View Text Solution

23. The pair of compounds in which both the compounds give positive

test with Tollen's reagent is

A. Glucose and Sucrose

B. Fructose and Sucrose

C. Acetophenone and Hexanal

D. Glucose and Fructose

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F0FNxkoFoWHU
https://dl.doubtnut.com/l/_C22bYZqorLuz
https://dl.doubtnut.com/l/_jDV3UZWIUIuV


24. The order of reactivity of phenyl magnesium bromide with the

following compounds is 

View Text Solution

25. How will you convert butan -2-one to propanoic acid?

A. Tollen's reagent

B. Fehling solution

C. 

D. 

Answer: C

Watch Video Solution

NaOH /I2 /H +

NaOH /NaI /H +

26. 

https://dl.doubtnut.com/l/_jDV3UZWIUIuV
https://dl.doubtnut.com/l/_bkajjJUWj35y
https://dl.doubtnut.com/l/_xWuJd9d7F8jk


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

CH3 − COOH

BrCH2 − COOH

(CH3CO)2O

CHO − COOH

27. Which of the following reactants on reaction with conc. 

followed by acidification gives following lactone as the 

A. 

B. 

C. 

D. 

NaOH

https://dl.doubtnut.com/l/_xWuJd9d7F8jk
https://dl.doubtnut.com/l/_2yKcGr07VAz9


Answer: C

View Text Solution

28. The smallest ketone and its next homologue are reacted with

 to form oxime.

A. Two different oximes are formed

B. Three different oximes are formed

C. Two oximes are optically active

D. All oximes are optically active

Answer: B

Watch Video Solution

NH2OH

29. Cyclohexene on ozonolysis followed by reaction with zinc dust and

water gives compound E Compound E on further treatment with aqueous

https://dl.doubtnut.com/l/_2yKcGr07VAz9
https://dl.doubtnut.com/l/_XzK0pScPEpny
https://dl.doubtnut.com/l/_aW34VSJrPhV3


 yields compound F. Compound F is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

KOH

30. The major product of the following reaction is 

A. A hemiacetal

B. An acetal

C. An ether

D. An ester

https://dl.doubtnut.com/l/_aW34VSJrPhV3
https://dl.doubtnut.com/l/_vO3GRsDkGHgV


Answer: B

View Text Solution

31. The number of aldol reaction(s) that occurs in the given

transformation is 

A. 1

B. 2

C. 3

D. 4

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_vO3GRsDkGHgV
https://dl.doubtnut.com/l/_ehnq66saRuKj


32. The major product H in the given reaction sequence is 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

CH3 − CH2 − CO − CH3

.Θ CN
−−−→ G

95 %H2SO4

−−−−−−→
Heat

H

CH3 − CH = C
∣

 CH3

− COOH

CH3 − CH = C
∣

 CH3

− CN

CH3 − CH2 −

OH

∣

C
∣

 CH3

− COOH

CH3 − CH = C
∣

 CH3

− CO − NH2

33.  in acetone, undergoes  reaction with each P,Q,R and S. The

rates of the reaction vary as 

A. 

KI SN 2

P > Q > R > S

https://dl.doubtnut.com/l/_FPEZaFo9pyY0
https://dl.doubtnut.com/l/_unNN5p3IcNNx


B. 

C. 

D. 

Answer: B

View Text Solution

S > P > R > Q

P > R > S

R > P > S > Q

34. The major organic compound formed by the reaction of 1,1,1-

trichloroethane with silver power is .

A. Acetylene

B. Ethene

C. 2-Butyne

D. 2-Butene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_unNN5p3IcNNx
https://dl.doubtnut.com/l/_xExMTgCQ8ABG


35. The major product in the following reaction is 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

36. The most suitable reagent for the conversion of 

 is

A. 

B. 

RCH2OH → RCHO

KMnO4

K2Cr2O7

https://dl.doubtnut.com/l/_xExMTgCQ8ABG
https://dl.doubtnut.com/l/_3uLdsRsNjMKV
https://dl.doubtnut.com/l/_lIAMuzQRVQDC


C. 

D. PC C (Pyridine chloro chromate)

Answer: D

Watch Video Solution

CrO3

37. The major product of the following reaction is 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_lIAMuzQRVQDC
https://dl.doubtnut.com/l/_mwHy4E9HrjrF
https://dl.doubtnut.com/l/_yqnQB3T549Nr


38. The major product of the following reaction sequence is 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

39. The correct sequence of reagents for the following conversion will be 

A. 

B. 

C. 

CH3MgBr, H + /CH3OH, [Ag(NH3)2]
+
OH −

CH3MgBr, [Ag(NH3)2]
+
OH − , H + /CH3OH

[Ag(NH3)2]
+
OH − , CH3MgBr, H + /CH3OH

https://dl.doubtnut.com/l/_yqnQB3T549Nr
https://dl.doubtnut.com/l/_kNfwZuZvjFM8


Jee Section More Than One Choice Correct Answer

D. 

Answer: D

View Text Solution

[Ag(NH3)2]
+
OH − , H + /CH3OH, CH3MgBr

1. Which of the following compounds will recact with ethanolic KCN?

A. Ethyl chloride

B. Acetyl chloride

C. Chlorobenzene

D. Benzaldehyde

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_kNfwZuZvjFM8
https://dl.doubtnut.com/l/_cqdWq6NiJ30L
https://dl.doubtnut.com/l/_MCtt8wzx937X


2. Which of the following are examples of aldol condensation ?

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

2CH3CHO
dil .NaOH
−−−−−→ CH3CHOHCH2CHO

2CH3COCH3

dil .NaOH
−−−−−→ CH3CHOHCH3CH2COCH3

2HCHO
dilNaOH
−−−−−→ CH3OH

C6H5CHO + HCHO
dil .NaOH
−−−−−→ C6H5CH2OH

3. Which of the following will give yellow precipitate with -

A. 

B. 

C. 

D. 

I2 /NaOH

ICH2COCH2CH3

CH3COOCOCH3

CH3CONH2

CH3CH(OH)CH2CH3

https://dl.doubtnut.com/l/_MCtt8wzx937X
https://dl.doubtnut.com/l/_UuLzf5h935JW


Answer: A::D

Watch Video Solution

4. A new carbon-carbon bond formation is possible in

A. Cannizaro's reaction

B. Friedal Crafts's reaction

C. Clemmensen reduction

D. Reimer-Tiemann reaction

Answer: B::D

Watch Video Solution

5. Among the following compounds which will react with acetone to give

a product containing

https://dl.doubtnut.com/l/_UuLzf5h935JW
https://dl.doubtnut.com/l/_twGRg163GY4z
https://dl.doubtnut.com/l/_A5zgFGwP6fS6


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

C6H5NH2

(CH3)3N

C6H5NHC6H5

C6H5NHNH2

6. Which of the following will undergo aldol condensation ?

A. Acetaldehyde

B. Propanaldehyde

C. Benzaldehyde

D. Trideutereo acetaldehyde

https://dl.doubtnut.com/l/_A5zgFGwP6fS6
https://dl.doubtnut.com/l/_M2To5RCnPG1g


Answer: A::B::D

Watch Video Solution

7. Which of the following oxidation reactions can be carried out with

chromic acid in aqueous acetone at 

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

5 − 10∘C

CH3(CH2)3C ≡ C − CH
∣

OH

− CH3 → CH3(CH2)3C ≡ C

O

∣ ∣

− C − CH

CH3(CH2)3CH = CH − CH2OH → CH3(CH2)3CH = CH − CH

C6H5CH3 → C6H5COOH

CH3(CH2)3CH2OH → CH3(CH2)3CHO

https://dl.doubtnut.com/l/_M2To5RCnPG1g
https://dl.doubtnut.com/l/_GpN5ydDoeoKS
https://dl.doubtnut.com/l/_dPNdMt990dpt


8. Which of the following reactions give benzophenone

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

2C6H6 + CCI4

( i )AICI3

−−−−−→
( ii )H2O

C6H6 + C6H5COCI
AICI3

−−−→

o − CH3C6H4COC6H5

heat
−−→

o − HOOC − C6H4 − COC6H5

Cu
−−−→
260 ∘C

9. Silver Miror test is given by which one of the following compounds?

A. Acetaldehyde

B. Acetone

C. Formaldehyde

D. Benzophenone

https://dl.doubtnut.com/l/_dPNdMt990dpt
https://dl.doubtnut.com/l/_QnD0vTr5dGWU


Answer: A::C

Watch Video Solution

10. After completion of the reactions (I and II), the organic compound(s)

in the reaction mixtures is (are) 

A. Reaction I: P and Reaction II: P

B. Reaction I: U acetone and Reaction II: Q, acetone

C. Reaction I: T, U, acetone and Reaction II: P

D. Reaction I: R, acetone and Reaction II: S, acetone

Answer: C

View Text Solution

11. Positive Tollen's test is observed for

https://dl.doubtnut.com/l/_QnD0vTr5dGWU
https://dl.doubtnut.com/l/_rv6dsTdkqrqW
https://dl.doubtnut.com/l/_5n5xUa5dAfhm


A. 

B. 

C. 

D. 

Answer: A::B

View Text Solution

12. Reagent(s) which can be used to bring about the following

transformation is (are) 

A.  in 

B.  in 

C.  in 

D. Raney  in THF

LiAIH4 (C2H5)2O

BH3 THF

NaBH4 C2H5OH

NI /H2

https://dl.doubtnut.com/l/_5n5xUa5dAfhm
https://dl.doubtnut.com/l/_bcguaihXGoYZ


Jee Section Reasoning Type Questions

Answer: C::D

View Text Solution

1. Statement-I: Acetic acid does not undergo haloform reaction. 

Because 

Statement-II: Acetic acid has no  hydrogen.

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 1

B. Statement 1 is true, statement 2 is true, statement 2 is not a correct

explanation for statement 1

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: C

α

https://dl.doubtnut.com/l/_bcguaihXGoYZ
https://dl.doubtnut.com/l/_fjqXwx3arL0O


Watch Video Solution

2. Statement I Benzonitrile is prepared by the reaction of 

chlorobenzene with potassium cyanide. 

Statement II Cyanide  is a strong nucleoohile.

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 1

B. Statement 1 is true, statement 2 is true, statement 2 is not a correct

explanation for statement 1

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: D

Watch Video Solution

(CN − )

https://dl.doubtnut.com/l/_fjqXwx3arL0O
https://dl.doubtnut.com/l/_nwD7yapQUojQ


3. Assertion: Aromatic aldehydes can be distinguished from aliphatic

aldehydes by fehling's solution 

Reason : Fehing's solution is an alkaline solution of  containing

Rochelle salt.

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 1

B. Statement 1 is true, statement 2 is true, statement 2 is not a correct

explanation for statement 1

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: B

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_YyWnEoEPLX6X


Jee Section Comprehension Type Questions

4. Assertion:Ethylenic acid  is a weaker acid than

benzonic acid . 


Reason : Ethylenic double bond is lesser electrondonating than benzene

ring.

A. Statement 1 is true, statement 2 is true, statement 2 is a correct

explanation for statement 1

B. Statement 1 is true, statement 2 is true, statement 2 is not a correct

explanation for statement 1

C. Statement 1 is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: C

Watch Video Solution

(CH2 = CHCOOH)

(C6H5COOH)

https://dl.doubtnut.com/l/_ZQXJsoRBSbjr
https://dl.doubtnut.com/l/_bQWdSovoCezH


1. A tertiary alcohol H upon acid catalysed dehydration gives a product I.

Ozonolysis of I leads to compounds J and K. K on reaction with KOH give L

and M. 

 

Compound H is formed by the reaction of

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

2. A tertiary alcohol H upon acid catalysed dehydration gives a product I.

Ozonolysis of I leads to compounds J and K. K on reaction with KOH give L

and M. 

https://dl.doubtnut.com/l/_bQWdSovoCezH
https://dl.doubtnut.com/l/_1V5h96FyaGff


 

The structure of compound I is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

3. A tertiary alcohol H upon acid catalysed dehydration gives a product I.

Ozonolysis of I leads to compounds J and K. K on reaction with KOH give L

and M. 

 

The structure of compounds J.K and L respectively are

A.  and PhCOCH3, PhCH2COCH3 PhCH2COO
−K +

https://dl.doubtnut.com/l/_1V5h96FyaGff
https://dl.doubtnut.com/l/_561blSh52n3s


B.  and 

C.  and 

D.  and 

Answer: D

View Text Solution

PhCHO, PhCH2CHO PhCOO−K +

PhCOCH3, Ph2CHO CH3COO
−K +

PhCHO, PhCOCH3 PhCOO−K +

4. In the following reaction sequece, products I, J and L are formed, K

represents a reagent. 

Hex-3-ynal  


 

The structure of the product I is

A. 

B. 

C. 

D. 

1 .NaBH4
−−−−−→

2 .PBr3

I

1 .Mg /ether

2 .CO2
−−−−→
3 .H3O+

J
K

−−→

https://dl.doubtnut.com/l/_561blSh52n3s
https://dl.doubtnut.com/l/_yr5F1x7UbTbo


Answer: D

View Text Solution

5. In the following reaction sequece, products I, J and L are formed, K

represents a reagent. 

Hex-3-ynal  


 

The structure of compounds J and K, respectively, are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1 .NaBH4
−−−−−→

2 .PBr3

I

1 .Mg /ether

2 .CO2
−−−−→
3 .H3O+

J
K

−−→

https://dl.doubtnut.com/l/_yr5F1x7UbTbo
https://dl.doubtnut.com/l/_lejhMDjLwFQK
https://dl.doubtnut.com/l/_xmtbNKN87kVN


6. In the following reaction sequece, products I, J and L are formed, K

represents a reagent. 

Hex-3-ynal  


 

The structure of product L is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1 .NaBH4

−−−−−→
2 .PBr3

I

1 .Mg /ether

2 .CO2

−−−−→
3 .H3O+

J
K

−−→

7. A carbonyl compound P, which gives positive iodoform test, undergoes

reaction with  followed by dehydration to give an olefin Q.

Ozonolysis of Q leads to a dicarbonyl compound R, which undergo

MeMgBr

https://dl.doubtnut.com/l/_xmtbNKN87kVN
https://dl.doubtnut.com/l/_dzP06JzgoW49


intramolecular aldol reaction to give predominantly S. 

 


The structure of the carbonyl compound P is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

P
1 .MeMgBr

−−−−−−→
2 .H + ,H2O

3 .H2SO4 , Δ

Q
1 .O3

−−−−−−→
2 .Zn ,H2O

R
1 .OH +

−−−−→
2 . Δ

S

8. A carbonyl compound P, which gives positive iodoform test, undergoes

reaction with  followed by dehydration to give an olefin Q.

Ozonolysis of Q leads to a dicarbonyl compound R, which undergo

intramolecular aldol reaction to give predominantly S. 

MeMgBr

https://dl.doubtnut.com/l/_dzP06JzgoW49
https://dl.doubtnut.com/l/_sqoC2v93llXC


 


The structure of the products Q and R, respectively, are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

P
1 .MeMgBr

−−−−−−→
2 .H + ,H2O

3 .H2SO4 , Δ

Q
1 .O3

−−−−−−→
2 .Zn ,H2O

R
1 .OH +

−−−−→
2 . Δ

S

9. A carbonyl compound P, which gives positive iodoform test, undergoes

reaction with  followed by dehydration to give an olefin Q.

Ozonolysis of Q leads to a dicarbonyl compound R, which undergo

intramolecular aldol reaction to give predominantly S. 

 


The structure of the product S is

MeMgBr

P
1 .MeMgBr

−−−−−−→
2 .H + ,H2O

3 .H2SO4 , Δ

Q
1 .O3

−−−−−−→
2 .Zn ,H2O

R
1 .OH +

−−−−→
2 . Δ

S

https://dl.doubtnut.com/l/_sqoC2v93llXC
https://dl.doubtnut.com/l/_2pdQ8x2Dsswf


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

10. Two aliphatic aldehydes P and Q react in the presence of aqueous

 to give compound R, which upon treatment with HCN provides

compound S. On acidification and heating, S gives the product shown

below 

 

The compounds P and Q respectively are

A. 

B. 

K2CO3

https://dl.doubtnut.com/l/_2pdQ8x2Dsswf
https://dl.doubtnut.com/l/_TOM4CRBNbKIQ


C. 

D. 

Answer: B

View Text Solution

11. Two aliphatic aldehydes P and Q react in the presence of aqueous

 to give compound R, which upon treatment with HCN provides

compound S. On acidification and heating, S gives the product shown

below 

 

The compound R is

A. 

B. 

C. 

D. 

K2CO3

https://dl.doubtnut.com/l/_TOM4CRBNbKIQ
https://dl.doubtnut.com/l/_Fa1Yb3Jzmame


Answer: A

View Text Solution

12. Two aliphatic aldehydes P and Q react in the presence of aqueous

 to give compound R, which upon treatment with HCN provides

compound S. On acidification and heating, S gives the product shown

below 

 

The compound S is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

K2CO3

https://dl.doubtnut.com/l/_Fa1Yb3Jzmame
https://dl.doubtnut.com/l/_BYZnwPEJWdnA


13. In the following reaction sequence, the compound J is an intermediate.

 


 gives effervescence on treatment with  and

positive Baeyer's test. 

The compound K is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

I
(CH3CO ) 2O

−−−−−−−→
CH3COONa

J
( i )H2 ,Pd/C
−−−−−−−−→

( ii )SOCI2
( iii )anhyd .AICI3

K

J(C9H8O2) NaHCO3

https://dl.doubtnut.com/l/_BYZnwPEJWdnA
https://dl.doubtnut.com/l/_Bt71SrRILkZU


14. In the following reaction sequence, the compound J is an intermediate.

 


 gives effervescence on treatment with  and

positive Baeyer's test. 

The compound I is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

I
(CH3CO ) 2O

−−−−−−−→
CH3COONa

J
( i )H2 ,Pd/C
−−−−−−−−→

( ii )SOCI2
( iii )anhyd .AICI3

K

J(C9H8O2) NaHCO3

https://dl.doubtnut.com/l/_EgnAToBP5TJf


15. 

The only correct combination in which the reaction proceeds through

radical mechanism is

A. (IV) (i) (Q)

B. (III) (ii) (P)

C. (II) (iii) (R )

D. (I) (ii) (R )

Answer: D

Watch Video Solution

∣
∣
∣
∣
∣
∣
∣
∣

ColumnI Column2 Column2

(I)Toluene (i)NaOH /Br2 (P )Condensation

(II)Acetophenone (ii)Br2 /hv (Q)Carboxylation

(III)Benzaldehyde (iii)(CH3CO)
2
O/CH3COOK (R)Substitution

(IV )Phenol (iv)NaOH /CO2 (S)Haloform

https://dl.doubtnut.com/l/_D5u7OOuFj4r7


16. 

For the synthesis of benzoic acid, the only CORRECT combination is

A. (II) (i) (S)

B. (I) (iv) (Q)

C. (IV) (ii) (P)

D. (III) (iv) (R )

Answer: A

Watch Video Solution

∣
∣
∣
∣
∣
∣
∣
∣

ColumnI Column2 Column3

(I)Toluene (i)NaOH /Br2 (P )Condensation

(II)Acetophenone (ii)Br2 /hv (Q)Carboxylation

(III)Benzaldehyde (iii)(CH3CO)
2
O/CH3COOK (R)Substitution

(IV )Phenol (iv)NaOH /CO2 (S)Haloform

https://dl.doubtnut.com/l/_9RnhyYvsVm8F


17. 

The only CORRECT combination that gives two different carboxylic acids is

A. (IV) (iii) (Q)

B. (II) (iv) (R )

C. (I) (i) (S)

D. (III) (iii) (P)

Answer: D

Watch Video Solution

∣
∣
∣
∣
∣
∣
∣
∣

ColumnI Column2 Column3

(I)Toluene (i)NaOH /Br2 (P )Condensation

(II)Acetophenone (ii)Br2 /hv (Q)Carboxylation

(III)Benzaldehyde (iii)(CH3CO)
2
O/CH3COOK (R)Substitution

(IV )Phenol (iv)NaOH /CO2 (S)Haloform

18. Carbonyl compounds reacts with  to form Aldoximes and

Ketoximes. Configuration of these can be determined by Beckmann

rearrangement as that group migrates which is anti w.r.t -OH 

NH2OH

https://dl.doubtnut.com/l/_U2zsK3BLvWeB
https://dl.doubtnut.com/l/_piWEzJbosq8t


 

It is important to note that the migration of group is completely

Retentive and no loss of optical activity is seen. 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

19. Carbonyl compounds reacts with  to form Aldoximes and

Ketoximes. Configuration of these can be determined by Beckmann

rearrangement as that group migrates which is anti w.r.t -OH 

 

It is important to note that the migration of group is completely

NH2OH

https://dl.doubtnut.com/l/_piWEzJbosq8t
https://dl.doubtnut.com/l/_hvVnmYkw11DP


Retentive and no loss of optical activity is seen. 

 (as only

product) Following is correct

A. Oxime P is syn form of geometrical isomer

B. Oxime P is anti form

C. Q is more basic than R

D. Q is 

Answer: B

View Text Solution

CH3CHO + NH2OH
Δ

−−→ P
H ⊕

−−→ Q
Br2 /KOH

−−−−−−→ R(CH3NH2)

H − C
∣ ∣

O

− NH − CH3

20. Carbonyl compounds reacts with  to form Aldoximes and

Ketoximes. Configuration of these can be determined by Beckmann

rearrangement as that group migrates which is anti w.r.t -OH 

 

It is important to note that the migration of group is completely

NH2OH

https://dl.doubtnut.com/l/_hvVnmYkw11DP
https://dl.doubtnut.com/l/_b8xf9fVJOqjm


Jee Section Integer Type Questions

Retentive and no loss of optical activity is seen. 

 

Following is true about product

A. It is also  laevorotatory

B. Both  forms are obtained in equal amount

C. It is having 'S' configuration for chiral carbon

D. It is having R configuration for chiral carbon

Answer: D

View Text Solution

( + )

( + )( − )

1. In the scheme given below, the total number of intramolecular aldol

condensation products formed from 'Y' is 

Vi T t S l ti

https://dl.doubtnut.com/l/_b8xf9fVJOqjm
https://dl.doubtnut.com/l/_3PIYEerdUbf1


View Text Solution

2. How many of the osomeric ketones having the molecular formula

 undergo iodoform test?

Watch Video Solution

C6H12O

3. Amongst the following, total number of compounds soluble in sodium

bicarbonate are: 2,4,6-trinitrophenol, benzoic acid, salicylic acid, acetyl

chloride, acetic anhydride, trifluoroethanol, acetamide, benzenesulphonic

acid

Watch Video Solution

4. Isomeric aldehydes and ketones having the formula  are :

Watch Video Solution

C5H10O

https://dl.doubtnut.com/l/_3PIYEerdUbf1
https://dl.doubtnut.com/l/_IfFN1HPfE5d2
https://dl.doubtnut.com/l/_Gb08WWr7LGGH
https://dl.doubtnut.com/l/_eenbevzof63P


Jee Section Matrix Match Type Questions

Jee Section Jee Advanced 2018 More Than One Choice Correct Answer

1. Match the entries listed in Column-I with appropriate entries listed in

Column-II. 

View Text Solution

1. The reaction(s) leading to the formation of 1,3,5-trimethylbenzene is

(are)

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_TTqKoJ1MKtnL
https://dl.doubtnut.com/l/_xpCFG6HKlu6e


Jee Section Jee Advanced 2018 Comprehension Type Questions

Answer: A::B::D

View Text Solution

1. Treatment of benzene with  in the presence of anhydrous 

 followed by reaction with  gives

compound X as the major product. Compound X upon reaction with

, followed by heating at  with most KOH furnishes Y

as the major product. Reaction of X with , followed by 

 treatment gives Z as the major product. 

The compound Y is

A. 

B. 

C. 

D. 

CO/HCI

AICI3 /CuCI Ac2O/NaOAc

Br2 /Na2CO3 473K

H2 /Pd − C

H3PO4

https://dl.doubtnut.com/l/_xpCFG6HKlu6e
https://dl.doubtnut.com/l/_HMbJoO8ZWxp6


Answer: C

View Text Solution

2. Treatment of benzene with  in the presence of anhydrous 

 followed by reaction with  gives

compound X as the major product. Compound X upon reaction with

, followed by heating at  with most KOH furnishes Y

as the major product. Reaction of X with , followed by 

 treatment gives Z as the major product. 

The compound Z is

A. 

B. 

C. 

D. 

Answer: A

i l i

CO/HCI

AICI3 /CuCI Ac2O/NaOAc

Br2 /Na2CO3 473K

H2 /Pd − C

H3PO4

https://dl.doubtnut.com/l/_HMbJoO8ZWxp6
https://dl.doubtnut.com/l/_ZlGg1KuV0rfg


Jee Section Jee Advanced 2018 Numeric Answer Type Question

View Text Solution

1. In the following reaction sequence, the amount of D (in g) formed from

10 moles of acetophenone is__________(Atomic weight in

. The yield (%)

corresponding to the product in each step is given in the parenthesis 

View Text Solution

gmol− 1 :H = 1, C = 12, N = 14, O = 16, Br = 80

https://dl.doubtnut.com/l/_ZlGg1KuV0rfg
https://dl.doubtnut.com/l/_1gGJzoBbWGlS

